55 B A - BT e | PE | BH
1|EXK |&FFErvtan 105 52
HEE S CE 340 x 105 67
1|EXR [|HFZEPIVInEAY) 105 69
1|EXR [|HFZEPIVInEAY) x 105 85
208K |7ra%/vs 9.0 310
3|EER 7 U 15.0 210
YN 1 W 2 12.0 65
5|EAR 7hnu¥R B 10.5 50
TEXR |rhnoya A 15.0 50
8|EEAR |7van 9.0 86
9|EER |7v'an x 9.0 48
9|EER |7van 9.0 30
9|EER |7van x 9.0 30

10|EAR  |7yvzovyy 12.0 105
1M|EXR  |7vzsvyy 15.0 56
12|EAR  |7vzevyy 21.0 8
13|EAR  |4hyyy - - 10.5 20
13|EAR  |4hyyy X 10.5 53
14|EE R |MrAA% 12.0 150
15|EEAR  |MrAA% 15.0 13
16|EAR  |M7vy7 105 150
171K |95~ =Yahqh'y 12.0 135
18|BEA  |zvyvky 10.5 45
19| K |zt - - 10.5 50
20[EEAK |43 vedvan 10.5 200
21|EAR  |44hoy - x| 210 14
211K |44+ IR | 210 7
R N e - - 12.0 75
24| ANV vl - 3% | 105 12,000
25| ANV el x 10.5 6,740
26|EK |4hk3/% 10.5 1,100
21| |A%+%7'50 x 105 40
28|EAR  |ATHH4vy 10.5 80
29|EK |43r1y 12.0 70
30|E K |#=zh x 12.0 140
31|EXK |*=zh 15.0 140
32|EK |*=zh 12.0 32
33|EK |#=zh x 12.0 120
36|EEAR |hsen 9.0 950
37|EAR  |hsen x 9.0 150
38|EAR  |h34byy 12.0 30
9|EAR  |Wh Ry 12.0 10
40|BEK |57 10.5 80
40|EK 7157 va x 10.5 40
AM|EKR |¥1t'% 10.5 25
NRIEXR  |r5ay & 105 300
NRIEXR  |r5ay & 15.0 31
43|EKR |y B 10.5 6
44| |E%3d BV 10.5 220
44| |E%3) BV X 105 30
455K |37y a9y 333 | 105 26
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455K |37y a9y 3% | 105 800
46|EAR  |¥yr/h3YY 105 120
AT|ELR |3 +4h)) 10.5 45
48|EEAKR ¥ &Y 10.5 1,800
A9|ER ¥ F9 ‘aurvr’ 10.5 2
50[EAR |¥&Yy ‘d-mars- 105 2
S51|EAR  |¥d9Y ‘4h'1’ 105 2
52|EAR ¥ E Y ‘MY 105 7
53|EK  |F& Y Ut-ur 10.5 121
S4|EAR |FFIY ‘DIYnrIVE -1 105 7
55| A |¥avh/a 12.0 15
56| |¥avh/a 15.0 7
571EAR  [¥un4yy 12.0 60
58| B |9h'1v9 10.5 240
58| B  |9h'1yy 10.5 240
5|EAK Ay 10.5 23
60|EA |an/hvrE4 10.5 1,100
61|FAR |an/89Fvy 9.0 120
62| |¥9517va 10.5 160
63|EAR vty 12.0 130
64|EAR Py 18.0 14
65|EA& |[pny95 8 3T 9.0 600
65|BA& |[pn495 8 3T 9.0 240
66|EA |yn4h7 £V 3FI [ 90 2,250
66|EA |on4h7 £V 3FI [ 90 275
67|EK |vvhvas 3% | 105 400
68| [t 333 [ 105 160
G6I|EAR  |Yavnry 12.0 140
T0|EEAR ey vy 10.5 50
THEER v - 10.5 35
T2|1EAR  Pavvaonhe 10.5 5
13| ER  |E&Naa) 105 2,600
13| EAR  |E&INaa) 105 480
13 ER  |E&Naa) 105 2,800
13| EAR  |E&INaa) 105 570
BIEXR v Bk 10.5 540
BIEER Vv 10.5 120
76|EAR U7y (O#D) 10.5 210
171X oy o4ait) 10.5 24
18|EEAR 5y (Ih-) 10.5 20
79|EAR  YOYvARY 15.0 15
79|EAK  [an+4nyyy 10.5 10
79|EAK  [an+4nyyy 10.5 10
79|EK  PontsE sy 10.5 70
80|EAR [anTtHbE R 10.5 255
81|E K |xx% 15.0 920
82|E K |xx% 21.0 14
83|E K |xx% 24.0 20
84|EAR |Ax5u(EER) 10.5 60
84|EAR |Ax5u(EER) 10.5 60
85|E K [|ttvan 3% | 105 900
86|E K [|ttvan 10.5 1,100




87|FHA [t%va) 24Y 105 800
88|EHA [t%vay 24Y 10.5 760
89|EAR |tvring 12.0 54
90|ER |tvriny % 12.0 32
90|EAR |tvriny % 15.0 34
91|EAR |tvyiny & 15.0 17
RIEKR |5130v9 10.5 14
93|ER |51avv9 15.0 11
94|EEAR |51 75 5,000
96|E AR  |4¥)ay BIA 75 200
97|EEAR ¥y 12.0 12
98|EEAR |5u%) 12.0 8
MEXK |¥71) 75 80
#EK |yt 105 70
#EK |yt 105 20
#|EAR  |Fovry 15.0 160
#HIEAR |Fv=uvm 15.0 8
#|EK |y 543 | 105 36
#|EAR |rvit't 10.5 10
##|BEK  |=A1v397 12.0 60
#|EAR  |=h49599 9.0 38
##|EA  |xeb5/7 105 60
##|EK |/Fey 18.0 10
##(EARK |1y 9.0 120
#|EAKR  |nF1by 12.0 19
#|EAKR  |nF1by 15.0 6
#|EAN  |nhanr 12.0 40
#EK |n5y THRE | 120 120
#EK |n5y 15.0 300
#EK |n5y 12.0 22
#EAR  |nvrvay 15.0 280
#EAR  |hvrvay 15.0 38
#|EK |edyy 12.0 75
##|EK |ehont B 10.5 1,800
#H|EAKR e nuER 12.0 110
##ERK  |erekvay 105 180
#|EA  |249%7°5 3% | 105 55
## | EAR  |79F99 74Y 105 60
#EXR |97y A= 105 10
#EK |y 4937y 105 10
#IEKR |+ 12.0 30
#|EK e 105 450
#(EK nne 15.0 100
##(BEK |an7Hq 105 70
##(BEK |an7Hq 105 30
##(BEK  |249vRh 9.0 12
#|EAR 729309 3FIT| 9.0 280
#|EAR 729309 3FIT| 90 384
#|EAR 729309 3FIT| 90 88
#|EAR 729309 3FIT| 90 380
#|EK |paqrr 10.5 150
#|EK |paqrr 10.5 40




B |~Nr-532 10.5 55
BHAR |vzuvy % 10.5 390
BHAR |avzuvy 105 60
BHAR |avzuvy x 10.5 28
BHAR |~z 12.0 14
=N (3T Pl 10.5 10
BERK vy 33T 9.0 400
BHAR |wvEreysm 10.5 15
BHAR |wenwvrusry 9.0 140
BAR |shTyyy 15.0 196
BEXR Rt 10.5 50
BER Rrex4) 10.5 50
BX |y 10.5 48
BEAX  |Jung 15.0 23
BEXR |ranav@) 9.0 25
BAR  |svanauevy) 9.0 48
BAR [Byvwys 10.5 12
BEAR Avavwwruhy 9.0 550
B |esvraq 15.0 15
BR |vnx/xz% 15.0 10
5K |yravyy 12.0 291
BXK Py 333 | 105 2,500
2K W7y x 9.0 470
BAR Pantyriy 10.5 7
BEX |y 9.0 3
EV. N L VAV 12.0 80
= N A A VAT 12.0 100
BAR Pewrsnanv 10.5 150
BAR Pvrdiagw X 105 15
BERK Pwrsvm 10.5 15
= NI RS 10.5 285
Ev N T EY) 10.5 20
Ev N T EY) 12.0 30
BAER |a%/vs 9.0 580
=, N VEL VI o x 9.0 18,000
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BAR |p-z'v)-@33) X 9.0 100
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BA i 12.0 150
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TR NTIR /Y'Y 10.5 20
T -EE5E |AhAY Y 3 | 120 50
T 58 |hAny' Y 333 | 105 5
5B 1hUTFH 0.50 21.0 34
5B 1hUTFH 0.80 24.0 14
5B 1hUTFH 0.80 21.0 30
5B 1hUTFH 1.00 24.0 40
5B 1hUTFH 1.00 21.0 8
5B 1hUTFH 1.20 24.0 65
5B 1hUTFH 1.50 24.0 9
5B 1hUTFH x 24.0 70
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# 1 5E heyy - 33T | 120 400
#t [17-E5E [a)vyy - 333L | 105 2,000
# [17 - |FhvFy 21.0 6
Hit |75 |FY Y - 333 | 105 220
Hit |77 5E5E |eAA Ry Y 10.5 129
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## | DA |43’ VT hhA"5 0.20 9.0 19
## | DAk |haFM4F+Y vASY 0.20 15.0 11
## DB [hn31+y va3y 0.40 15.0 5
## DB |hn31+y 223y 1.00 15.0 5
## DB |hn31+y 223y 2.00 15.0 8
## DB [hn31+y 223y 1.50 15.0 13
## DB [hn31+y 223y 1.00 18.0 7
## DB [hn31+y va3y 1.50 18.0 4
## DB |hn31+y 223y 2.00 18.0 3
## (DB |nahr'; 9.0 400
## [ DB |nvwaxhz'; 9.0 120
## | DB |nathr's 15.0 5
## (DB |t vhvya-n 9.0 30
## (DB |t vh 3/-0 33T 9.0 160
## | DA |ATT hHIIVYR L=0.2 9.0 1,250
## [ DB A7 U1V L=0.2 9.0 4,100
## [ DB A 77 Ay L=0.3~0.4 9.0 1,450
## | DB |AT'T AUvHR L=0.3~0.5 9.0 1,900
## (DB [FhanEunr’s 10.5 9
#t

##|ARAK | aningyl 1.00 21.0 7
#IARK | 7n-10v v 0.80 18.0 14
## (AKX | Lybrs— 0.50 15.0 2
## | KA |Cham. pi. ‘74715 #-L7 0.60 15.0 2
## | KA |Cham. pi. ‘74715 #-L7 0.80 15.0 1
## | ARA  |Cham. pi. 'H YN -} 0.80 18.0 4
## | ARA  |Cham. pi. 'H YN -} 1.00 18.0 3
## | ARKA |oupr. le. 'T°-1F F45°— 0.80 18.0 1
## | ARKA |cupr. le. VN5 AP 1.20 18.0 1
## | AKA |Cupr. ma. 'T-RFILAN 0.80 15.0 2
## | ARKA |Cupr. ma. 'T-RFILAN 0.80 21.0 3
#HIARAKR |7 n-h-A9b 0.10 10.5 20
#HIARAK |7 n-h-A9b 0.25 18.0 5
#IARK |v-n- 0.30 12.0 1
## AKX [uni sc. 70— A7V 0.80 12.0 15
##|ARKAK uni sc. 70— A7V 120 - 18.0 5
##(RK 173071 0.60 12.0 56
## | KA |L4307124)) 0.30 12.0 8
## | KA |L4307124)) 0.40 12.0 20
## | KA |Thui. or. 'B=X"4)R’ 0.50 15.0 2
##(ARK |7 tyeEoy 1.00 24.0 12
#| AKX |rv4d ‘BFEOBRYF 15.0 29
#| AKX |rvy1 ‘BEOE 15.0 10
#IARK |7v41 B 15.0 44
#IARK |7v41 B 18.0 3
## AKX |7vyde vy Hq 15.0 16
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##| AKX |rvy4 @RDY 15.0 23
#| KA |rrye ‘mEm 15.0 9
#| KA |rrye ‘mEm 18.0 5
## AKX |rvye ‘B 15.0 9
## AKX |rvye ‘B 18.0 5
#| KA |rrye NER 15.0 13
#IAK |rv & 0.20 10.5 45
#IAK |rv & 0.25 15.0 19
#AKR |7vy1 8 0.30 15.0 70
#|AKR |7vy4 8 0.35 18.0 6
#ARK |ryy1evy 0.30 15.0 18
#(ARK |ret 0.30 | 0.20| 15.0 3
#ARK |ret 040 | 025| 15.0 3
##ARAK |79 7vFr 0.25 12.0 16
##ARK |79 7vFr 0.35 15.0 32
##ARK |79 7vFr 0.35 15.0 40
##ARK |79 7vFr 0.45 18.0 5
#IAK 795 0.30 15.0 5
##|AK |7vFe BAY 15.0 5
## | KK |7AhY 120% ) 120 - 15.0 15
## KK |7A90% 172989 ' R)-2L-Y 1.50 15.0 30
##|ARK |70 12989 WL)-1 1.20 15.0 18
#|RAKR |7ANY 1729y 'S4~ 1.00 15.0 44
##ARK |79 050 | - 105 450
#HIARAKR |9 Eb% - 18.0 26
## AKX |37/% 1.00 18.0

#IARAKAX |v7vHe BHEOE 12.0 6
#ARKAX |v7vHe BHEOE 15.0 21
# | AKX |Ivryee ‘mHHMY’ 12.0 6
# | AKX |IvTyee ‘mHHMY’ 15.0 5
#|ARAK |TVryH1 ‘BFE 12.0 7
#|ARAK |TVryH1 ‘BFE 15.0 4
#ARAK |vryye miE 12.0 2
#IARAKR |v7vya iR 15.0 7
#IARAK |v7vyd IR 18.0 2
#IARK |vrvy1 ‘2@ 12.0 5
#IARK |vrvye ‘2@ 15.0 2
#ARK |vryde EAN 15.0 10
##|AK |vryys wa 15.0 41
#AK | ryya B 15.0 14
#AK | ryya B 18.0 2
# AKX |vryys EERT 15.0 29
# | AKX |yrvye ‘AOEF 12.0 12
# | AKX |yrvye ‘AOEF 15.0 14
#ARAK |vryde ‘O 15.0 21
# AKX |y fEosEpE’ 15.0 2
#| KA |ty wo¥EIy 15.0 32
#IARK |vryHe EFE 15.0 48
#ARKR |Ivryye HE 15.0 5
#ARAK |vrvee ‘48 15.0 17
## | AKX |V 1TV HA 15.0 57
## | AKX |V 1TV HA 18.0 4




# AKX |vryye ‘BTEY 15.0 8
##| KK |FZRIHR-N =997 0.30 12.0 10
##|ARK  |FAIHR-N=h997 ¢ 0.50 15.0 5
##|ARK  |FAIHR-N=h997 ¢ 0.80 18.0 5
# (KK |A9291070 x 0.40 21.0 10
##| AR |A5291070 105 9
## (AKX |h1/% 0.50 18.0 5
## (AKX |h1/% 1.00 18.0 5
## (AKX |h1/% 1.20 21.0 2
#ARAKR |t &kER 1.00 18.0 5
# AKX |WorvHE 0.30 15.0 50
#HARAKR |y 15.0 10
##(ARAK | ryeq 21.0 7
#ARK |hvas 0.50 15.0 30
#ARK |hvas 0.80 18.0 12
## | KA |h3srthsz 0.20 9.0 48
## | KA |h3srthsz 0.80 24.0 2
## | KA |h3srthsz 1.00 24.0 8
## | KA |h3srthsz 1.20 24.0 2
## | ARAKR  |h35r404% (FAN'T) 1.00 15.0 2
## | ARAKR  |h35r4047% (FAN'T) 1.20 15.0 3
#ARK |hoyns 0.20 105 43
#HIARKR |FIrvvy 9.0 28
#HIARKR |FIrvvy 10.5 5
#HIARKR |FIrvvy 18.0 8
#HIARK |[Fon1h x 0.15 10.5 30
#HIARK |[Fon1h x 0.40 15.0 20
##| AR |pFrvaE) X 0.80 18.0 4
##|AK Iy BAY 0.60 18.0 5
# AKX 377y ‘7ni-vay 1.80 21.0 30
# (AKX |onroonq 0.50 18.0 40
# (AKX |onroonq X 0.50 18.0 16
#IARK |ryr4va 0.60 15.0 45
#IARK |ryr4va 0.60 15.0 15
# | AKX |anovy e 15.0 2
# | AKX |anovvy BA 10.5 5
# | AKX |anovvs BWAY 12.0 6
#|ARK |anyvy ‘BEOA’ 15.0 3
## AKX  |a9FFserFry) 0.15| 105 28
## | KA [9FFesF+y) 015| 120 20
##| KA |[pL79% 0.40 18.0 87
##| KA |[pL79% 12.0 90
#H| KA |2 0.50 12.0 10
# KK 495 thy 150 | 080 21.0 4
# KRR 495 th¥ 180 | 080 21.0 6
#H KRR |497 e 1.50 21.0 35
#H KRR |497 e 1.80 21.0 12
#HIARKR |45 KEE 2.00 | 050 21.0 7
#HIARK |45 BKE 150 | 0.80 [ 21.0 3
#HIARKR |45 Hig 1.00 | 040 180 10
#HIARKR |45 Hig 120 | 040 180 3
#AKR |y E£BER 150 | 0.80 [ 21.0 5




#|ARAK |pr7 \EHERE 1.20 21.0 20
#|ARAKR  |Bovw THAUFLY- 1.00 [ 030 180 2
#|ARAKR  |Bovw THAUFLY- 1.00| 030 21.0 4
#AK |pyvk B 1.00 21.0 2
#|ARAAK |¥9n 0.80 15.0 4
#|ARKAK |¥9n 1.00 15.0 15
# AR |yhohry 1.20 15.0 10
##|ARKKR  |B3yrasvyvy 0.50 105 15
##|ARKKR  |B3yrasvyvy 0.50 15.0 3
#HIARKR PyrevEny 0.80 21.0 2
##(ARK P7rary 1.00 15.0 4
#(ARK P7rary 1.00 18.0 2
#AK oLy 0.60 21.0 20
#AK [rovy 0.60 21.0 5
#ARK Pwyr 0.50 |23 | 15.0 13
#ARK Pwyr 0.50 15.0 7
#HIARKR |VEV) IV vhh-A9Y 0.30 15.0 10
##(ARAK |EvF 46900 0.20 15.0 6
#(ARK |5 1.00 18.0 8
#H|ARK |E#&gRIIRS 0.30 12.0 6
#ARK |BE&hvas 0.40 12.0 16
#ARK |BE&rvas 0.50 12.0 27
#H|ARK |E#&gRIIRS 0.50 18.0 2
#H|ARAK |E#&gRIIRS 0.60 24.0 3
#H|ARK |E#&gRIIRS 0.80 24.0 4
#RKK |#E&rvzs BEAY 0.30 15.0 4
#IARK |E&vzs BEAY 0.50 15.0 5
##|AEK  [avvasevsy AR 1.00 18.0 15
##|AEK  [avvaseesyy B 1.00 18.0 10
#HIARAK V3% 0.50 15.0 14
##| KA panrag 0.60 15.0 2
## | KA PanrIvyy 0.30 15.0 4
#| KA PantIvyy 0.50 18.0 9
# AKX |ovvrs 105 130
# AKX |ovvrs 0.35 12.0 20
# AKX |ovvrs 0.60 12.0 2
## AKX |overs 0.60 12.0 6
# AKX |ovvrs 15.0 30
#ARK [Pvravsy & 105 33
#IARK Pyvravsr B 105 8
## | KA [RE-99)- vUHLTF - 0.20 10.5 10
##| KA |AEE ‘4v4n-i 1.20 24.0 4
##| KA |AEE UNFL 1.20 24.0 4
## | KA |xEE ‘KB’ 1.00 21.0 2
#IARKR |e13A919F07Y VAU~ 15.0 35
##(ARK |e139=vy vk 12.0 80
##(ARK |e139=vy vk 18.0 70
##(ARK |e139=vy vk 18.0 25
#ARK |e1a9xv+ 030 | 030 150 9
#ARK |e1a9xv+ 040 | 030 150 9
#ARK |e1a9xv+ 040 | 040 180 6
#ARK |e1a9xv+ 040 | 0.60| 21.0 1




#ARK |e1a9xv+ 050 | 040 180 1
#ARK |e1a9xv+ 060 | 030 150 3
#ARK |e1avxv+ 060 | 040 180 3
#ARK |e1avxv+ 060 | 050 21.0 2
#ARK |e1avxv+ 070 | 050 18.0 1
#ARK |e1a9xv+ 070 | 060 21.0 1
#ARK |e1a9xv+ 0.20 15.0 4
#ARK |e1avxv+ 0.30 15.0 5
#ARK |e1avxv+ 0.70 15.0 1
#ARK |e1avxv+ 0.20 18.0 1
#ARK |e1a9xv+ 0.30 18.0 1
#ARK |e1a9xv+ 0.50 18.0 1
#ARK |e1avxv+ 0.80 18.0 1
#ARK |e1avxv+ X 0.30 15.0 12
#ARK |e1avxv+ X 0.50 15.0 2
#ARK |e1a9xv+ X 0.40 18.0 2
#ARK |e1a9xv+ X 0.50 18.0 3
#ARK |e1a9xv+ X 0.60 18.0 2
#ARK |e1avxv+ X 0.80 18.0 7
## | KA | AN 1h99F A RIrg- 050 | 050 | 18.0 12
#IARR | 398 m9E A nrn-p 080 | 050| 18.0 3
##(ARAK |13 or/% 0.30 15.0 2
##(ARAK |e13nnay7r 080 | 060 21.0 4
# (AKX |e13nnan7r 080 | 060 240 5
##| KA |EvYan 7.0 150
##| KA |EvYan 9.0 210
##| KA |EvYam 0.20 10.5 84
#HIARK |7y x 10.5 10
#HIRK |7y x 12.0 18
#ARK |ar 0.50 15.0 20
#HIARK |977/% 1.00 18.0 6
#HIARK |977/% 1.20 18.0 3
## KK |p3/% 0.80 18.0 5
#HIRK |55/% 1.00 2
#HIARAKR |Fr4=-2"F-Y)- 060 | 040| 180 2
## KK |Fe/# 0.3~0{ 030 120 512
## KK |Fe/# 0.3~0{ 030 15.0 14
#HIARKR |FaovheRs 0.50 15.0 2
#IARK pPism 9.0 30
# KK pPiE 0.30 15.0 130
#|RKK pPiE 1.00 18.0 15
##(ARAK [V4uroe 0.50 | 0.20 1
##(ARAK [F4uroe 1.20 [ 0.60 1
##(ARAK [F4uroe 150 [ 0.80 1
##(ARAK [V4uroe 1.80 [ 1.20 2
#HIARAKR |VIyovyy 0.3~0.5 - 10.5 700
#HIARAKR |VIyovyy 0.3~0.6 10.5 100
## AKX |Vosvyyy 050 | 025 15.0 15
#|ARAKR  [F73099(FRTE) 0.15 10.5 92
#|ARAKR  [F73099(FRTE) 0.30 15.0 1
#|ARAKR  [F73099(FRTE) 0.60 15.0 1
#|ARAKR  [F73099(FRTE) 0.60 18.0 2




#|ARAKR  [F73099(FRTE) 1.50 18.0 1
#HIARKR [F73099(8) 0.30 18.0 1
#HIARKR [F73099(8) 0.40 18.0 3
#HIARKR [F73099(8) 0.50 18.0 1
#HIARKR [F73099(8) 0.60 18.0 4
##| AKX |5 BAY 0.30 12.0 50
##| AKX |5 BAY 0.50 18.0 3
##| AKX |5 BAY 0.30 12.0 10
#HIARK | 0.80 18.0 6
#HIARK [|F¥ 1y 0.30 12.0 150
#HIARKR |Fyyn 1.00 15.0 28
##|(ARAK |rroer 0.80 12.0 73
##|(ARAK |rroer 1.20 15.0 10
#|ARKK |FIese43% o7 0.15 15.0 9
# AR |FIese43% o7 0.30 15.0 20
## KK oy 0.25 15.0 70
#HIARK [|Frury 0.50 15.0 100
## KK |y 0.60 18.0 10
#HIARKR |=vi% 0.4~05 15.0 48
# (KK |91+t 0.80 18.0 4
#ARK |/7vevnzs 0.10 10.5 200
#ARK |/7vevnzs 1.50 18.0 6
## | KA |HvEvhR'S 0.80 24.0 4
## | KA |HvEvhR'S 1.50 24.0 11
## | KA |HvEvhR'S 2.00 24.0 21
#ARK |/7vevnzs 250 24.0 39
## | KA |HvEvhR'S 3.00 24.0 13
# | AK |/65E30° (&Y an/LT) 0.50 15.0 2
##|AEK |U9vE xE 12.0 35
## AKX |9vE xE 0.30 15.0 12
## AKX |U9vE xE 0.50 18.0 4
##|AEK |9vE xE 0.80 21.0 4
#(ARE  |WV-99971 0.15 12.0 15
#HRA [N-99974 0.20 15.0 3
#HRA [N-99974 0.30 15.0 3
#HRA [N-99974 0.40 18.0 2
#HRA  [N-99974 0.30 18.0 2
##| KA |nyFonT 1.00 18.0 3
#IARAKR [Int1ny & 0.30 10.5 5
#IARAKR [Int1ny & 0.30 12.0 4
#IARAEK [Int1ay o 0.30 9.0 24
#IARAEK [Int1ay o 0.30 15.0 8
#IAREK [Int1ay o 0.50 15.0 5
##|AEK  |nFIxE Hobd 0.50 15.0 29
##|AEK  |nFIxE Hobd 0.80 15.0 6
#IARAAR [nFzr(E) 0.80 15.0 4
#IAR [nFzr(E) 1.00 18.0 4
## AR |nFIREGR) 0.60 21.0 3
## AR |nFIREGR) 0.60 21.0 10
## AR |nFIREGR) 1.00 21.0 10
##ARK [nFszs EVHF 07N 0.80 21.0 5
#|ARK 4535 Fo70 KT -FHUTA 0.40 15.0 3
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04| EFA BER B 172" 0.80 3 3
05| FEEA  |EN oy s 600 030| 3.0 1 1
306|ZESK  [ER H |-~[1739 13.00 | 1.45| 5.00 ] ]
07|EESA |[EHR & [-~|1F39 1400| 100| 500 1 1
308|FERAK =] oy s 14.00 1.20 5.00 1 1
309|FEEK =1 poy N s 14.00 1.20 5.00 1 1
J0[FEEA [EN & [-~|1729 1400 130] 6.00 T
ST |EEEHA [EK & [~~|1729 1400| 1.60| 5.00 1 1
2 BEEEA |EN poy iy 15.00 | 1.10 [ 6.00 1 ]
REE S E T B |--[4739 15.00 [ 1.35] 6.00 I
97| EEER  |BRE B —l(725 15.00 | 150 [ 6.00 1 1
1498[BEEA  |BE B [~-~|1739 6.00| 035[ 250 1 ]
1200 BREA _|HE B [—|1739 =20 o 2
1500 ZEEA |RE oy N e i 4.00 1 1
5.00 3 3




1501 [FHEREAK HRE & |~~|1Fa% x 6.00 2 2
1825 | &1 34 BAX &[4 7.00 0.85 2.50 1 1
34| EREXR Er & [ 1395" ¥RaL 1.50 2.00 1 1
315[E/RBEAK =0 & {41295 3.00 1.50 1 1
763[EFE A BA b |H| 133% B 2.50 1 1
764 BREAR B b |H | 137% it 3.00 17 17
765 | E R EmA BA b |h|- 130% B 4.00 5 5
766 | % m A BERN HiE|(&H | 133% B4 4.50 3 3
767[E/REAR BA b |&H| |139% Bt 5.00 4 4
768 B#REA BA b |dH | 130 it 5.50 2 2
1059 | EHEAK W& | [13v% B 3.50 1 1
1060 | % &= A BEE Hl—[13v% B 4.00 1 1
1061|¥ERE K B I [13e% Bt 5.00 1 1
16| BESXK Er & {OnEsY’ 6.50 4.00 1 1
37[FHEEAK ER & -~|1onesy’ 400 | 043 3.00 1 1
18| HESK ER B I-—|1nnEsy” 300 042 3.00 1 1
319|BHESK Er & 4u/\{~~/ 4.00 0.34 3.00 1 1
320|BZEF/A =0 & - 40NESS 4.00 0.35 3.00 1 1
321 [EE®mA BEr H I—|1onE3y” 400| 043 3.00 1 1
IN|EEEK ER B I-—|1nnEsy” 2.50 1.80 1 1
323|BESXK Er & 40NESY 2.50 0.10 1.50 1 1
324 [EERK ER & -—|1one3y’ 250| 0.10 1.80 2 2
25| FEEK ER B I-—|1nnEsy” 250 o010 2.00 2 2
326| BESX Er & 40NEIY 2.50 0.12 1.50 1 1
27| EERA Er & - 40nESY 2.50 0.12 1.80 1 1
328|FERK =l H I—|1onE3y” 300| 0.10 1.50 1 1
39| FESK ER B I-—|1nnEsy” 300| 0.10 2.00 2 2
330| ZESK Er & 40NESY 3.00 0.15 1.80 1 1
331 [EEEK =0 & -—|1onE3y’ 300| 0.18 2.00 1 1
3R2[EEEAK el H I—|1onEsy” X 2.00 1.20 1 1
33| EESK ER & [ «run%w x 2.50 1.50 2 2
M| EZERA =1 & {OnESY x 2.50 0.15 2.00 1 1
335 |FERK ERN & -—|1onesy X 3.00 1.50 1 1
336|FESK ER B I-—|1nnEsy” x 300 o0.12 2.00 1 1
337|BHESK Er & 40nESY 4.00 0.55 3.00 1 1
338|HEF/AK =1 & - [OnETY 5.00 0.45 3.00 1 1
3| FEEEK ERN H I-—|1nnEsy” 500 050 3.00 1 1
40| FESK Er oY e «runfw 5.00 0.85 5.00 1 1
M |BESKR Er & {OnESY 6.00 0.50 4,00 1 1
342[HERAK ER & -~|1onesy’ 6.00 | 0.55 3.00 1 1
I EESK ER B I-—|1nnEsy” 6.00 | 080 5.00 1 1
34| BESK Er & AO0nEIY 6.00 1.20 5.00 1 1
45| BER/A =0 & - [O0nESY 7.00 0.45 5.00 1 1
346|FEmAK ERN & -—|1onesy 7.00 | 0.60 4,00 1 1
47| EEEK ER B I-—|1nnEsy” 7.00 [ 0.75 4.00 1 1
38| BES XK Er & 40NESY 7.00 0.95 6.00 1 1
349[EEE K ER & -—|1one3y’ 800| 095 6.00 1 1
350 FEEK ER B I-—|1nnEsy” x 5.00 5 5
351| BESX Er & AONESY x 6.00 1 1
352| BERA Er & - [OnESY x 7.00 3 3
353|FERAK =l & -—|1onesy 400| 045 3.00 1 1
354|FEESK ER B I-—|1nnEsy” 450 | 0.66 4.00 1 1
355| ZES K Er & 40NESY 5.00 0.45 4.00 1 1
356 [ZEERAK =0 & -—|1onE3y’ 500| 050 3.00 1 1
357[FEEEAK el H I—|1onEsy” 500 066 4.00 1 1
358|FES K Er & AONESY 5.00 0.68 4.00 1 1
359 | ZERA =1 & 40nESY 5.00 1.08 5.00 1 1
360[FERA [l H I—|1onE3y” 6.00 | 0.80 5.00 1 1
361[ZESK el H I—|1onEsy” 6.00| 095 5.00 1 1
362| BES K Er & 40NVESY 6.00 1.04 5.00 1 1
363| BER/AK =0 & - 40NESY 7.00 6.00 1 1
1173|BEB A INTH H I-—|1nonEsy” 2.00 20 20
1M14|FBESK U] & AONESY ¥ 1.20 70 70




1175|FERK Y T Y AANESY 7.00 0.85 6.00 1 1
1176| BZES K ME B AONESY 5.00 0.45 5.00 2 2
177[ZES K AN Y 10nESY 500 | 0.65 6.00 1 1
1178|BEEA nE| Bl {OnESY 6.00 | 0.35 3.00 1 1
1179[FFEEK Y Y A0NESY 6.00 0.45 4.00 1 1
1180[ZFES K N B 10NESY 600 050 4.00 1 1
1181|ZEHA A Y 10nESY 6.00 | 055 6.00 1 1
1182| BEE A mNE - (B 1OnESY 6.00| 0.75 6.00 1 1
1183| BZES K ME B AONESY 7.00 0.50 3.00 1 1
1184[ZES K A Y 1O0nESY 700 055 5.00 1 1
1185| BEB A nE Bl 4ANESY 700 065 5.00 1 1
1186 [FFEEm K Y T Y A0NVESY 7.00 0.70 5.00 1 1
1187[ZES K M B A0NESY 7.00 [ 0.75 6.00 1 1
1188|ZES A nE o B 1O0nESY 400 035 3.00 1 1
1189 | B EE A nE Bl {OnESY 400 035 4.00 1 1
1190| ZES K Y Y 40NESY 4.00 0.40 3.00 1 1
1191[ZFES K AN Y 4n/\{~~/ 400 045 5.00 1 1
1192|FEB A N T Y AONESS 500 025 4.00 1 1
1193 [ Em K Y I Y 1ONESY 5.00 0.30 3.00 1 1
1194|ZES K Y Y AONESY 5.00 0.44 4.00 1 1
1195|ZES K A Y 10nESY 500 045 4.00 2 2
1196| BEE K INE B AONESY 5.00 0.50 4.00 2 2
1197[ZEH A Y- Y 1O0nESY 600 040 4.00 1 1
1198[ZES K NE B 10nESY 600 050 3.00 1 1
1199|ZEBH A Y Y 10nESY 600 055 4.00 1 1
1200|Z B A N B {ONESY 600 070 5.00 1 1
1201 | ZESK ME B 1AnESY 7.00 0.55 5.00 1 1
1202 ES K A Y 1O0nESY 700 060 5.00 1 1
1308 ER K EEFRT  \|H|— 4OnESY 400 | 037 3.00 1 1
1309[FEEAXR [EBFRT  |H|— AOnESY 400| 044 3.00 1 1
1310[ZES K EBRET |H[— 10NESY 400 | 047 3.00 1 1
1311 |BEEA EEFT  |H|— 40nESY 400 |=+t043| 4.00 1 1
1312[FER/AK BHERT  |H|— 1OnESY 400| 055 5.00 1 1
1313[FES K EHBFET B[ AOnESY 4.00 1 1
1314| BZESAK |BHEHT  |H|— 40nESY 500 o040 3.00 1 1
1315[FER K EBEFRT  |H— 4ANESY 500| 042 3.00 1 1
1316 EmA [EBHRT  |H|— 10NESY 500| 045| 3.00 1 1
1317[ZESK EBET_ |H[— A0NESY 500| 054| 3.00 1 1
1318| BES A EBFT  |H|— 40nESY 5.00 0.41 4,00 1 1
1319|BEEAR  [FBHT |Hl— 1OnESY 500 043 4.00 1 1
1320[%EESKX  [EBFRT  |H— AOnESY 500 062 4.00 1 1
1321|BZES K EBRET  |H[— A0NESY 5.00 0.65 4.00 1 1
1322| BEEA EEFRT  \|H|— 40NESY 5.00 0.50 5.00 1 1
1323[FEmA EBFRT  |H|— 1AnESY 500| 075 5.00 1 1
1324|ZEEAXR  [EBFT |Hl— A0NESY 500 | 0.81 5.00 1 1
1325|BZES A EBFT  \|H|— 40NESY 5.00 0.94 5.00 1 1
1326 FER K BEBETRT  \|H|— 1OnESY 5.00 |Z#t0.75| 5.00 1 1
1327[FEEKX  [EBFRT  |H— AOnESY 500 084 6.00 1 1
1328[ZES K EBRET B[ 40NESY 5.00 4 4
1329| ZEEA EBFRT  |H|— [0nESY 6.00 0.55 4,00 1 1
1330[FERmA BHEFRT  |H|— 1OnESY 6.00 | 0.56 4,00 1 1
1331|FESK EBFET B[ AOnESY 6.00 | 058 4.00 1 1
1332|BZESAK |BEHHT  |H— 1O0nESY 600 060 4.00 1 1
1333[EER K EEFRT  \|H|— 4OnESY 6.00 | 053 5.00 1 1
134[FEEAX  [EBFRT  |H— AOnESY 600 057 5.00 1 1
1335|ZES K EBRET |H[— «ru/\fw 6.00 | 059 5.00 1 1
1336| ZERmA EEFT  |H|— A0ONESY 6.00 0.60 5.00 1 1
1337[FER/AK BHERT  |H|— 1OnESY 6.00 | 0.62 5.00 2 2
1338|ZEF K EERT |H|l— AONESY 6.00 0.90 6.00 1 1
1339|ZES K EBRET B[ 40nESY 6.00 3 3
1381[FERm K TH | H [OnEEY 7.00 0.95 1 1
1382 |BEmAK T Bl {1AnESY 7.00 0.80 7.00 1 1
1383[FES K TH B A0NESY 7.00 0.90 6.00 1 1




1384|BEEAK T  |Hl-— AANESY 6.00 0.55 5.00 1 1
1385 FES K TH & A0NESY 6.00 | 0.70 5.00 1 1
1386| ZES K T | ®H| 40nESY 4.50 4.00 1 1
1387[FER K TH (B 1ONESY 500| 055 4.00 1 1
1388[FEEAK TH (B AOnESY 700 | 060 1 1
1389[FES K TH B AONESY 6.00 0.55 5.00 1 1
1390|ZEmA T B {anEsy 6.00 0.60 5.00 1 1
1391 |FRER K I 1ANESY 700 060 4.00 1 1
1392[ ZES K TH & AOnESY 7.00 [ 050 4.00 1 1
1393 | BES K T | ®H| 40nESY 7.00 0.75 4,00 1 1
1394 ER/ K TH | H| 40NESY 6.00 0.90 6.00 1 1
1395[FEEAK TH (B AOnESY 700 070 5.00 1 1
1396 FES K TH B 40NESY 8.00 1.10 8.00 1 1
1397|BES K TH B {OnEsY’ 6.00 0.35 4,00 1 1
1308 |3 = Ak % 0 (Bl 1OnESY 700 045 4.00 1 1
1399[FES K TH  |H AOnESY 7.00 [ 090 6.00 1 1
1400| ZES K TH | ®H| 4u/\{~~/ 9.00 1.10 7.00 1 1
1401 |ZEEA TH  \|H AONESY 7.00 0.55 5.00 1 1
1402 |ZHEm A % 0 (Bl 1OnESY 700 030 3.00 1 1
1403[ZFES K TH & 1ONESY 6.00 | 0.30 4.00 1 1
1404| BES K T B 40NESY 7.00 0.35 4.00 1 1
1405 ER K TH (B 1AnESY 7.00 | 0.40 5.00 1 1
1406[FEE K TH (B AOnESY 700 050 4.00 1 1
1407| BES K TH B 40NEIY 6.00 0.50 5.00 1 1
1408|ZERmA T  \|&H 40nESY 4.00 0.30 3.00 1 1
1409[FHERE A TH%  |HF— 1OnESY 400| 045 3.00 1 1
1410[FESK TH & A0NESY 7.00 [ 045 4.00 1 1
1411 | BESK T | ®H| 40NESY 7.00 0.50 4.00 1 1
1412[FEE K TH (B 1ONESY 700 | 0.35 3.00 1 1
1413[FEE XK TH (B AOnESY 7.00 [ 055 6.00 1 1
1414[ZES K TH B 4ul\%~*/ 7.00 0.50 5.00 1 1
1415\ EmA T B {OnESY 5.00 0.40 3.00 1 1
1416[FERmA TH (B 1ANESY 7.00 | 0.50 5.00 1 1
1417[FESK TH & AOnESY 6.00 | 045 4.00 1 1
1418| BES K T | ®H| 40nESY 4.00 0.35 3.00 1 1
1419[EERK TH | H| [OnETY 6.00 0.60 5.00 1 1
1420[FEE XK TH (B AO0nESY 300 040 3.00 1 1
1421[ZES K TH B «ru/\fw 6.00 0.55 5.00 1 1
1422| BES K TH B {OnESY 7.00 0.85 7.00 1 1
1423|% =k % 0 (Bl 1OnESY 400 035 3.00 1 1
1424| ZEF K T  |Hl— AONESY 5.00 0.30 4.00 1 1
1425| B ES K TH | ®H| AO0nEIY 5.00 0.55 5.00 1 1
1426| ZEEA TH  \|H [O0nESY 5.00 0.70 5.00 1 1
1427|BE®mA % 0 (Bl 1OnESY 400 0.21 3.00 1 1
1428 ZES K TH & 1ONESY 500 | 0.80 5.00 1 1
1429| BES K T B 40NESY ¥ 5.00 4.00 2 2
1430| ZEE A TH & 4O0nEIY 3L 4.00 3.00 1 1
1431 [FEE XK % (B 10NESY ¥Rz 3.00 2.00 1 1
1432| BES K TH B AONESY 5.00 0.65 4.00 1 1
1433| BEmA T  \|&H [OnESY 6.00 0.65 5.00 1 1
1434[BFEEAK TH (B 1OnESY 2.50 9 9
1435 FES K TH & 1ONESY 2.00 12 12
1436| BES K T | ®H| 40NESY 1.80 1 1
1437[FEB K TH (B 1ONESY 400 | 050 5.00 1 1
1438 FEE K TH (B AAnESY 700 045 4.00 1 1
1439[FES K TH B AONESY 7.00 0.35 3.00 1 1
1440| B Em A T B 40nESY 6.00 0.45 4.00 1 1
1441 (B EE A % 0 (Bl 1ANESY 700 | 0.55 6.00 1 1
1481|ZES K TH 2 [H|— AONESY 1.8~2.0 40 40
1482| BES K TH 2 |H|— 40NVESY ¥ 1.8~2.0 30 30
1502[FFER K BE (B~ 4ANESY 1.20 22 22
1503[FEEAK BE [ AOnESY 1.50 1.00 1 1
1504 ZES K BE (B 10NESY 1.50 42 42




1505 EmA BE  |HF- 1ANESY 1.80 14 14
1506 | ZES A BE  |[Hl— AONESY 1.80 1.20 3 3
1507 | E S A BE  |(Hl— AONESY 1.5~1.0 1.00 21 21
1508 ER K BE (B {AnESY 2.00 24 24
1509[FEE K BE (B AOnESY 2.00 1.20 2 2
1510FES K BE - |&Hl AONESY 2.50 1 1
1511 |BEFAK BE  |[Hl— AONESY 2.50 0.10 1.20 3 3
1512k BE |l {ONESY 250 0.15 1.50 1 1
1513| ZES K BE [ AOnESY 250| 0.18 2.00 1 1
1514[ZES K BE (B 40nESY 250 [ 0.21 2.50 2 2
1515 FER K BE (B 4ANESY 250 | 025 2.00 1 1
1516 FEEAK BE [ AOnESY 250 025 250 1 1
1517 |ZES A BE |l A0nESY 300 o0.10 1.20 5 5
1518| B EE XK BE  |[(Hl- A0ONESY 3.00 0.12 1.20 2 2
1519[% =k BE |l 1OnESY 300 o0.18 1.50 1 1
1520| ZES K BE  [B— AOnESY 300 o0.18 2.00 1 1
1521|ZES A BE (&l 4u;\rc~~/ 300 | 0.21 2.00 2 2
1522 |FEE A BE (Bl AONESS 300 0.21 2.50 1 1
1523[FEmA BE  |&H— {OnESY 300| 025 3.00 3 3
1524|ZES K BE  [B— 1ONESY 300 0.30 2.00 1 1
1525| & EE K BE  |[(Hl— AONESY 3.00 0.30 3.00 1 1
1526 FER K BE (B 1AnESY 300| 040 3.00 1 1
1527[FEE K BE  |&H— 10NESY ¥Rz 3.00 1.80 1 1
1528 ZES K BE @ (B~ 10NESY ¥z 3.00 2.50 1 1
1529| ZEER/ A BE  |Hl- AONESY 3.00 1.20 2 2
1530|204 BE | 1OnESY 350 030 3.00 1 1
1531|FEF K BE  |[Hl— AONESY 3.50 0.40 2.00 1 1
1532| & E S K BE  |(Hl— AONESY 3.50 0.35 3.00 1 1
1533[FER K BE (B 1ONESY 400 | 021 2.00 1 1
1534 FEE XK BE (B AOnESY 400 028 200 1 1
1535 ZES A BE |l *fl:ll\:E‘“/ 400 o030 3.00 1 1
1536 ZEE A BE (Bl AONESY 400 035 3.00 4 4
1537|F B Ak BE |l {ONESY 400 o040 3.00 1 1
1538|ZEF K BE  |Hl— AONESY 4.00 0.40 4.00 1 1
1539 |ZES A BE (Bl 10nESY 400 045 4.00 1 1
1540[FER K BE  |&H 1OnESY ¥ar 4.00 2.00 2 2
1541 [FEEAK BE  |&H— 10NESY ¥ar 4.00 2.50 1 1
1542|ZES K RE @ (B «ru/\rcw ¥Rz 4.00 3.00 1 1
1543| BES A BE  |Hl— A0NESY ¥ 4.00 4.00 3 3
1544[FHERAK BE (B {OnESY 4.00 4 4
1545| ZES K BE  [B— AOnESY 500| 030 2.00 1 1
1546 ZES K BE (B A0NESY 500 035 3.00 1 1
1547 |FEB A BE (B 1O0nESY 500 045 3.00 1 1
1548[FEm A BE (B 4AnESY 500| 045 4,00 1 1
1549 ZES K BE  [B— 1ONESY 500 | 050 5.00 1 1
1550| & E A BE  |[(Hl— AONESY 5.00 0.60 5.00 1 1
1551 ER K BE (B {ANESY 500| 065 4.00 1 1
1552 | ZREF/ K BE  |[Hl— AONESY 5.00 0.75 5.00 2 2
1553|ZES A BE  |&Bl~ A0nESY 500 090 5.00 1 1
1554 ZEB A BE (B 107NESY ¥ 5.00 3.00 1 1
1555 EmA BE (B 10NVESY ¥Rz 5.00 4,00 1 1
1556 | ZES A BE  |[Hl— AONESY 5.00 4.00 2 2
1557 | & E S A BE  |(Hl— AONESY 5.00 5.00 3 3
1558 ER K BE (B {AnESY 6.00 | 0.40 4.00 1 1
1559 |FZER K BE  |Hl— AONESY 6.00 0.55 5.00 2 2
1560 | ES A BE  [(HI— AONESY 6.00 0.65 4.00 2 2
1561 | EEA BE  |[Hl— AONESY 6.00 0.65 5.00 1 1
TAEET-ES BE |l {ONESY 6.00 [ 0.80 6.00 1 1
1563|ZEF K BE  |Hl— AONESY 6.00 23 23
1564 |% % 5 K BE  |[(Hl— AONESY 7.00 3.00 1 1
1565FFER K BE (B~ 4ANESY 7.00 4.00 1 1
1566 FEE A BE [ AOnESY 700 065 5.00 1 1
1567 |ZES A BE (Bl A0nESY 5.0~6.0 18 18




1659 [ EEm A il £ & [~ 10NVESY 2.00 1.50 3 3
1660| ZES A il £ & AONESY 2.50 0.12 1.80 3 3
1661|FES A thjil £ & 40NESY 3.00 0.15 2.00 2 2
2028|FEE A = & -—|1onesy’ 400 o050 4.00 1 1
2029| BEEK = B I-—|1onEsy” 600 070 4.00 1 1
2030[FEE XK = & AONESY 4.00 0.85 5.00 1 1
2068[FEEEA HEE & |- {anEsy 5.00 0.80 4.00 3 3
2069| BEEK HBE H I—|1onE3y” 550 | 0.80 5.00 1 1
2070|ZES A HFA & [~ AONESY 6.00 0.88 5.00 1 1
2357[EES R #MEL B |&H— 40NESY ) 1.00 4 4
2358 FEEEA MEL B’ |&H[—|1AnEY ] 1.20 28 28
2359| BEEK AW B’ |- [4OnEs H 1.50 37 37
2360| BEE K AL 8/ |&H | [4anEsY #H 1.80 8 8
2361 | BESXK MEL 8/ \H|— 40NESY ) 2.00 5 5
2362 | BEFK MEL R’ (&~ |1AnEY 1.80 1.80 1 1
2363| BEEK AW 8/ |- [4OnEsY 2.00 1.20 1 1
2364 FES K FEL B |H— AONESY 2.00 1.50 4 4
2365|BERA FEL B/ \H|-— {OnEsY 2.00 1.80 2 2
2366| BE®mAK AW B’ |- [4OnEsS 2.00 2.00 1 1
2367[EEES K FEL 8 |H|— AONESY 2.00 0.10 1.20 1 1
2368[FEE R AL B |H|[— 40NESY 2.00 0.10 2.00 1 1
2369 | FHERAK fEL B \H|— 1AnEsY’ 2.00 0.10 2.50 1 1
2370|FESA [f1EW B (B |[—|[1onE3S 200 0.12 1.80 1 1
2371[EEEXK FMEL B |H— AONESY 2.00 0.15 2.00 1 1
2312| BERA fEL B/ \&H|-— [OnESY 2.50 1.80 1 1
2373|HEEAR MAWL B’ |- [4AnEsS 250| 0.10 1.80 1 1
2374|EEEK FEL 8 |H|— AONESY 2.50 0.12 1.50 1 1
2375[FES K AL B |H[— 40NESY 2.50 0.12 2.00 4 4
2376|FEE A MEL R’ (|H—|1AnEY 250| 0.15 2.50 1 1
2377|#FEERA [f1EW R [H|[—|[1onE3S 3.00 1.50 1 1
2378[EEE K FMEL 8B |H— AONESY 3.00 0.18 2.50 1 1
1826| ZEEA |BX 9542055 x 1.10 0.50 1 1
2223\ BEBKR FELWL o e PR PY V) ¥IL 0.80 0.60 1 1
2224 |FEEEBR FHEIL B9 42h05°5 [ v 1.00 0.80 2 2
2225FEEBER FEL &[99 4205°3 3z 1.20 0.80 2 2
2226FEEER FELL B [954205°'3 ¥ 2.50 1.50 1 1
2227|FEEKR FE W B9 4205°5 ¥Rz X 1.20 1.00 1 1
2228| HEBXR FHEIL &H 1942053 ¥RaL X 2.00 1.50 1 1
1736| BES K 3. Ed YRR Rk P2 ) 0.80 1 1
1065 EHRIEAK BEE Y e LA EXE 2.50 1.50 1 1
1065 EHRIEAR BER By EXE 3.00 1.50 3 3
1065 ZIEAR BEH0 &Iy EXE 3.50 1.80 1 1
1065|EHRIEAR BE By EXE 4.50 4.50 1 1
1065 HRIEK BEE By EXE |x 3.00 1.50 1 1
1068 | B fRIEAR BEH0 By ¥z 2.00 1.00 2 2
1068 | ERIEXR BER B Iy ¥ 4.00 0.15 1.20 1 1
1068 EHRKIEAK BERT oy ¥EST x 1.50 0.60 2 2
1068|EHRIEAR  [BBEW By ¥Rz X 2.00 1.00 1 1
1068[FRIEXR BER & [ YN MY ¥ X 3.00 1.50 1 1
UN20|EEEA FEL /%8B |04 3.00 3.00 1 1
2413 | BER/AK FEL E/%|H |74 3.50 2.00 1 1
2474|BEEK FMEWL E/%|H |74 4.00 1.50 2 2
2475 ES K FMEL E/%|H |74 5.00 4.00 1 1
1827[FEFAK  |BX B |4 400| 037 2.50 1 1
1828[ZEEAR  |[BX 3 [ 4 600 064 3.00 1 1

36| FESA L &4 KE 150 [ 0.12 0.60 1 1

JNEZERA B4 -0t ‘RE 1.50 0.15 0.80 1 1

BEEEA  [HEIE H {4 KE 180 | 0.16| 060 1 1

| FEESK A &4 ‘KE 180 0.12 0.80 1 1

40[FESK g [t KE 1.80 0.18 0.80 1 1

A|EEEKR Lig BH--|nr ‘KE 200| 0.16 0.50 1 1

FEEEKR  |BE H {14 ‘KE 200 o010 o0.80 1 1

43| BESK il &1+ ‘KE 200| 012 0.80 2 2




MEEEKR  |HBHE H {4 KE 200| 014 1.00 1 1
45|BESK L3 &4 ‘KE 200| 019 1.00 1 1
46[EES K Lid [t ‘KE 2.00 0.20 1.00 1 1
41|EEEKR Lid BH--|nr ‘KE 200| 0.15 1.20 1 1
B|EEEKR  |HBHE H {4 ‘KE 200| o0.18 1.20 1 1
HEESK L &4 KE 250| 0.14| 060 2 2
50| ZER/A B4 1t ‘RE’ 2.50 0.12 0.80 1 1
51| EmA Lig H {4 KE 250| 0.15 0.80 2 2
52| BESAK A &4 ‘KE 250| 0.16 0.80 2 2
53| ZES K g [t KE 2.50 0.17 0.80 1 1
54| BERAK Lig BH--|nr ‘KE 250| 0.18 0.80 1 1
55| % EEmA  [EiE H {14 ‘KE 250 020 0.80 1 1
56| ZBESA Ll &4 KE 250 | 021 0.80 1 1
57| ZESX HE5E "t ‘KE' 2.50 0.22 0.80 1 1
58| FERA Lig H {4 KE 250| 0.16 1.00 2 2
59| BRESAK Ly H {14 ‘KE 250 0.17 1.00 1 1
60| ZESK g -1t KE 2.50 0.18 1.00 1 1
61| BZEFTA B4 1+ ‘KE' 2.50 0.20 1.00 1 1
62| FEmA HE4A &4 ‘KFE 250 | 0.24 1.00 1 1
63| FESA Ll &4 ‘KE 250| 017 1.20 1 1
64| BZESK L3 -1t ‘KE' 2.50 0.18 1.20 1 1
65| FERmA Lig H--|nr ‘KE 250| 0.19 1.20 1 1
66 EERA  [EIE H {4 ‘KE 250 0.21 1.20 1 1
67| EZESXK g [ KE 2.50 0.19 1.50 1 1
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88| FESA Ll &7t ‘BLOOEFE 250 | 024 1.00 1 1
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138| ZERA B4 H-nr ‘EHFF 1.80 0.15 1.00 1 1
139|FEEK izl Hl--|nr ‘ERHF 200| 012 1.00 1 1
140|FESK il Bt ‘EHH 200| 013 1.00 2 2
141|BESK g H -0+ ‘EHR 2.00 0.14 1.00 1 1
12| FEEK g s ‘ERHF 200| 0.18 1.00 1 1
13| FEEKR | Bt EHH 200| 0.19 1.00 2 2
144 ZESK Ll B9+ ‘EHF 2.00 0.20 1.00 1 1
145|ZES K HE5E H -0+ ‘EHFF 2.00 0.16 1.20 1 1
146|FER/AK izl Hl--{nr ‘ERHF 200| 019 1.20 1 1
147|FES XK il Bt ‘EHH 200| 020 1.20 1 1
148| ZES K g B0+ ‘EHR 2.00 0.18 1.50 1 1
149|ZEBA B4 B0+ ‘EHF 2.00 0.19 1.50 1 1
150| FEmA izl s EHF 200| 020 1.50 1 1
151|FESK Ll Bt EHH 250| 013 1.00 1 1
152|ZESK L3 H -0+ ‘EHR 2.50 0.16 1.00 1 1
153|FERK Lig s ‘ERHF 250| 0.17 1.00 2 2
154|FEEKR | Bt ‘EHH 250 0.19 1.00 1 1
155|ZES A g B9+ ‘EHF 2.50 0.17 1.20 1 1
156| ZE®mA B4 H -0+ ‘EHFF 2.50 0.19 1.20 1 1
157|FEEK izl Hl--nr ‘EHF 250| 020 1.20 1 1
158|FESK Ll &H-=nr ‘EHH 250| 0.15 1.50 1 1
159 ZES K Lid H[--nr ‘EHR 2.50 0.16 1.50 1 1
160|FERK Lid s ‘ERHF 250| 0.17 1.50 1 1
161|FEEKR A Bt ‘EHH 250 0.18 1.50 2 2
162|ZESK L B9+ ‘EHF 2.50 0.20 1.50 1 1
163|ZERA B4 H-nr ‘EHFF 2.50 0.17 1.80 1 1
164|FEEAK izl Hl--{nr ‘ERHF 250| 0.20 1.80 2 2
165|FESK il Bt ‘EHH 250| 020 2.00 1 1
166 ZES K g H -0+ ‘EHR 3.00 0.16 1.00 1 1
167 FEEK Lig s ‘ERHF 300| 0.19 1.00 1 1
168|FEEA |4 Bt ‘EHH 300| 0.20 1.20 1 1
169|ZES K il B9+ ‘EHF 3.00 0.22 2.00 1 1




170|FEEK Lig H {4 RE 200| 0.16 0.80 1 1
1M |EESK Ll &4 ‘EF 200| 018 0.80 2 2
172|ZESK Lid 0t ‘EF 2.00 0.19 0.80 1 1
13| EEEK Lid Hl--|nr ‘EF 200| 017 1.00 2 2
174|BEEAKX | H {4 EE 200| 0.19 1.00 1 1
175|ZES K L H|0F EF 2.00 0.20 1.00 3 3
176| ZE®/A B4 -0t ‘EF 2.00 0.21 1.00 1 1
177|FEEK Lig H {4 RE 250| 0.18 0.60 1 1
178|FESK il &1t ‘EF 250| 017 0.80 1 1
179|ZES K g -0t EF 2.50 0.20 0.80 1 1
180|FERK Lig H--|nr ‘EF 250 | 020 1.00 1 1
181|FEEK Lig H-{14 RE 250 | 0.21 1.00 2 2
182|ZESK Ll H|0F EF 2.50 0.22 1.00 1 1
183|ZESAK HE5E -0t ‘EF 2.50 0.23 1.00 1 1
184|FERAK Lig H {4 RE 250 | 0.24 1.00 1 1
185|FESK il &4 ‘EF 250 0.21 1.20 1 1
186| ZES A g H-nr EFE 2.50 0.24 1.20 1 1
187|BEBA B4 Hl--{nr WUFE 1.50 0.12 0.80 1 1
188|FEmA izl &7+ WTLFE 150 [ 0.16 0.80 1 1
189|FES/K Ll o e N e 150 0.15 1.00 1 1
190|ZES K L3 -0t WTFE 1.50 0.17 1.00 1 1
191|FESK Lig o e L e 150 [ 0.15 1.20 1 1
12| %EEKR | H-9r TN 150 | 0.20 1.20 1 1
193|FEFK g o e L e 1.80 [ 0.18 0.80 1 1
194|ZERA B4 -0t WTWFE 1.80 0.14 1.00 1 1
195|FE=EA | H94 TLTFS 180 0.18 1.00 1 1
196|FESK Ll &4 WFR 1.80| 0.20 1.00 1 1
197|ZESK Lid &0t WTFR 1.80 0.18 1.20 1 1
198|BERA |4 vt WTFE 200| 014| 0.80 1 1
19|FEEKR | &7t TR 200 015 o080 1 1
200[FES K HEiH Hl—|9r TATE 200| 0.16 1.00 2 2
201 |FEERBA B4 -0t WTFE 2.00 0.17 1.00 1 1
202[FHEEAK izl H9r TLTFS 200| 0.18 1.00 5 5
203[EESK il &7t TWFR 200| 019 1.00 2 2
204[ZES K g 9t TATE 200| 020 1.00 2 2
205|%FERA | vt WTATFE 200| 021 1.00 1 1
206[FEEEKR | &H--74 HTWFE 200| 0.19 1.20 2 2
207 [EESK Ll o e L e 200| 020 1.20 2 2
208|FEEAR HE5E -t WTFR 2.00 0.21 1.20 2 2
209[FER/AK izl 94 TS 200| 022 1.20 1 1
210|BESK il &4 HTLFW 200| o0.18 1.50 1 1
211[ZESK g Hl—|9r AT 200| 020 1.50 1 1
|EEEA B4 Hl--{nr WUFE 2.50 0.18 1.20 1 1
213(EE®mAK | &7+ WTLFE 250 0.19 1.20 1 1
14| ZEEXK Ll o e N e 250| 020 1.20 1 1
215|FEEXK L3 -0t WTFE 2.50 0.21 1.50 1 1
216|FERA [ o e L e 250| 022 1.50 1 1
7[EESKR | H-9r TN 250 0.23 1.50 1 1
218|FESK g b7+ INEELAE 1.80 0.12 0.60 1 1
1|BEEA B4 -0t NEEMLE 1.80 0.10 0.80 1 1
20(EEEKR | B --|nr NEEHE 1.80| 0.16 1.20 1 1
221[ZEESK Ll B -=|nr INEEHE 200| 0.11 0.60 1 1
22| BEE KR Lid & -0t NEEME 2.00 0.14 0.60 1 1
2| FEERAK | B --|nr NEEME 200| 012| 0.80 1 1
24 EEEKR | B --|nr NEEAE 200 014 o080 2 2
225 ZES K L & |nr NEEHE 200| 017 0.80 1 1
226|BEEA B4 B -0t NEELE 2.00 0.18 0.80 1 1
21[FEEXR | B --|nr NEELE 200| 0.15 1.00 2 2
228[ZES K il B -=|nr NEEHE 200| 018 1.00 2 2
229|FES KR g & |0t NEEMLE 2.00 0.19 1.00 1 1
230|FERAK | B --|nr NEEME 200| 013 1.20 1 1
231 [EEEKR | B --|nr NEEIE 200| o014 1.20 1 1
232[ZESK il &HI|nr NEBEHE 200| 017 1.20 1 1
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2242|FESA  |FIHEWL M |3 400| 0.10 1.50 2 2
243FERA  |[FnEWL o[BI 400| 0.12 1.50 5 5
2244| BEEXR FE W | [hv37 400| 0.15 1.50 2 2
245|FEEK FHEL | [hY3 5.00 0.12 1.50 2 2
2246|FZESAR  |FIAEWL MBI 500| 0.15 1.50 1 1
2247\ BEB/K FELL M |3 4.00 0.12 1.50 1 1
2248 | FEEA  |f1IAEWL |3 ¥Rz 2.50 1.20 2 2
249[EFEEK FHEIL | |13 ¥RaL 3.00 1.20 3 3
2250FEmA  [FnEWL o[BI ¥ 3.50 2.00 1 1
2251 | BERAK FELWL M Y37 3L 4.00 2.00 8 8
2252| ZESAX  |fIAEWL |3 L 4.00 2.50 1 1
18345 EIEKR BEX M—|h'2R's ¥ 2.00 1.50 1 1
2253| BEBKR FHELWL M—|h'2R'3 £ 1.20 0.80 2 2
2254 |FEER FE W M——|h'eR’3 H 1.50 1.00 2 2
2255|HEBXR FHEW ] S =] 2.00 1.20 1 1
2256EEBEA  [F1HELL P ] 2.00 1.20 1 1
2257|BEBKR FEWL o\ e L 28 2.00 1.00 1 1
2258 EER AW M——|h"2R’3 2.00 1.50 1 1
2259 FEEAR  [FnHELL Ml——[rers 2.50 1.50 3 3
2260[FEEEA  [FnEL o 2.50 1.80 3 3
2261 [FEEER FE W Ml—[herz 2.00 1.00 1 1
2262|HEBXR FHELWL A e DK ESH 2.50 1.50 1 1
1835|ZES A BX M- |hevh ¥ 4.00 3.00 2 2
2263| BERAK FEW - hvyh 3L 2.50 1.20 1 1
2264|FEBEA  |f1AEWL M- [hevh ¥Rz 3.00 2.00 2 2
2265| BEEK AW - [hevh ¥z 3.50 2.00 1 1
1836 [+ 3E4 BX bA)Y LA 3.00 0.12 1.50 1 1
1[BEEAK £H -y ¥Rz 5.00 2 2
1FESAK £H H-|hYy ¥Rz 6.00 4 4
94|EEFKR |BrteLI—|h |1 500 042 3.00 1 1
915| ZEF/AK g a4—|h[—|h 5.50 0.41 2.00 1 1
916|FEEK B 2— b [y 5.50 0.55 2.50 1 1
N7 |EESK BB 2— | [y 5.50 0.56 2.00 1 1
942 |ZERHA =8 [y 3.50 9 9
M43 [FHEEAK L] -y 4.00 3 3
MZEEEXR BB [y 3.50 2 2
945 TS K =B -y 4.00 1 1
1837[FER/ K B’X Hy—|hyy 3L 5.00 3.00 1 1
1069|EH/EmA  [BBEH H -yt 1.50 | 0.13 1.50 2 2
1070| ¥ ZE A BER ) PR LA S 1.50 0.22 2.00 1 1




1071 [E/REmA  [BBEA Y e VP S x 1.50 1 1
1072| EfkaE A BER o PR LA S 1.80 0.15 1.50 1 1
1073|EfRE K BER - hIn'E X 1.80 1 1
1074|EREA W& Y VP L S 200| 020 1.50 1 1
1075|EH/EmA  [BEw B --lhvynd 200 | 0.21 1.50 1 1
1076| Bk = A BER ) PP LA S 2.00 0.13 1.80 1 1
1077|EfREmA &R Y PR S 2.00 |Zt0.60] 3.00 1 1
1078|EfRkmA  [FREHT Y VP S 250| 027| 3.0 1 1
1079 EfE A BER Y PR LA S 2.50 |Z#0.73] 3.50 1 1
1080| E k&= A BER ) e PP A S 3.00 0.30 2.50 1 1
1081[EHREA W& -t 300| 031 3.00 1 1
2032|EHFEm AR = -y % 0.5~0.7 0.80 32 32
561[ZFESAK ER 28 = hoEyH35 450 | 022 3.00 1 1
562|FEEAK Er g = hoEy H37 4.50 0.23 3.00 1 1
563[FERA ER = = hoey H3 500 | 023 3.00 1 1
564[ZES K R B = hoEy H7 500| 032 3.00 1 1
565[FES K IS = hoeyH3 500| 042 3.50 1 1
2266FEEEAR FHELWL |30 vR"S BA 2.00 1.20 1 1
2267|FREEKR  |FIEWL A——|%3h'vR"3 2.00 1.50 6 6
2268|HEBXR FHELWL |30 IR°S 2.50 1.50 2 2
2269 | HEEXR FAELWL M |F3h RS 2.50 1.80 1 1
379 ERIEAR BER - RY9Y9Y° 0.80 0.60 6 6
380| E#RIEXR [l - FYYY 1.00 0.60 2 2
381|EH/IEX Er p0)Y s & WA PP P 1.20 0.60 6 6
382 ERIEA ER o)) e kAP P VA 1.50 0.80 2 2
383 | EMRIER =l A e G VA VA x 0.80 4 4
384 | ERIEXR el i e YAV x 1.00 2 2
385| ERIEXR [l p4)Y e kA& P P X 1.20 2 2
1082|EfRkmA BET o |FvEIEd 2.50 6 6
1083|EH/EmA  [BEW o e VAL 3.00 2 2
1084| B EA BER P20 e G A vALl 3.50 2.00 1 1
1085|E fkmA &R Mo |FUEIRM 4.50 2.00 5 5
1086 | Rk A BEE o |FvEIEA L 1.00 0.80 1 1
2033 | EH/FEH AR = i e E YA vAdl [ v 1.20 0.60 6 6
2034|ERE AR = P2 s G A VAL ¥RaL 1.50 0.60 2 2
2035|EREE A = H [FVEIRL ¥ 1.50 0.80 8 8
2036 | #FEm AR = P20 e A VAL 3L 1.80 1.00 1 1
2037|¥/ZREK = 1 e vAdl ¥Rz 2.00 0.80 1 1
2038| ERE X = b2\ e b VAl ¥z x 1.20 0.60 2 2
2039 | BB A = | [FvEHEL ¥z x 1.50 0.60 4 4
2040 E#FEE AR = 2 e kY VAL b X3 X 1.50 0.80 1 1
2041 [ERE AR = p2) s G A VAL ¥RaL X 1.80 0.60 1 1
2042| EREA = h [FVEIEL 3L x 1.80 0.80 1 1
1087|EH/mA  [BBEHT o e s VAL 5.00 2.00 1 1
2043 EREXK = ) e b VA VA ¥z 1.80 1.20 4 4
1838|EfkmA BX H e G0N REF 3.50 0.25 2.00 1 1
1839 [HE B A BX -y 2 EF 4.50 0.21 2.00 1 1
1840| EREA  |BX -y 2 EF 450 | 0.25 2.00 1 1
1841 B E A BEX -l Hah R EF 5.00 0.30 2.00 1 1
1842[EREA BX -l HOh R EF 5.00 0.40 2.00 1 1
183 | E/REmA  |BX -l poh R EF 550 | 0.40 2.50 1 1
1844 | EfRkE A BX B -l g0h R EF x 4.50 0.35 2.00 1 1
1845[ERIEXKR BX ME=—lran 'y 3.50 0.12 1.50 1 1
386|FERAK =0 i\ e Vi e 12.00 0.95 8.00 1 1
387 [FEEEAK ER ) e U s 12.00 1.00 7.00 1 1
388[EES K el ) e s 12.00 1.10 7.00 1 1
3B9|EEEA EA ) e VA s 12.00 1.20 6.00 1 1
390[FHEEA [l yo)Y e U 12.00 1.30 6.00 1 1
391[EESK g ) e U 9.00| 0.90 5.00 1 1
32| FES K il ) e VA s 10.00 1.20 7.00 1 1
393|BEF/AK =0 pi\Y el VA e 10.00 1.43 7.00 1 1
394[FEEEK BN )Y e U 14.00 1.85| 8.00 1 1
395[ZES K BN ) e U s 15.00 150 | 8.00 1 1




396 | FERAK =l i e Vi e 15.00 1.75 8.00 1 1
397|EESK el 220N el M e 15.00 2.10 7.00 1 1
398|FEE K BEA 220 il K a3 ¥ 12.00 5.00 2 2
399 | FZEF/AK =0 i\ e Vi e ¥RIL 12.00 6.00 1 1
400[FEEEAK el ) e U s ¥ar 12.00 8.00 1 1
401 [EFESK BER ) e s ¥Rz 14.00 6.00 1 1
402|EEEA EA ) e VA s x | 10.00 1 1
403|FERK ] piN e A e x | 12.00 4 4
404|FESK [l A0 el K e x | 14.00 1 1
1088| ZES K BER P2)) il K e EXE 3.00 2.00 3 3
1089[FESA  [WMEH )Y e Kb e EXE 3.00 2.50 2 2
1090[FEE XK BEE )Y e U e EXAE 3.50 2.50 1 1
1091[ZEESK B 5% EXE 4.00 3.00 1 1
1443| BES K T ) e VA s 10.00 1.10 7.00 1 1
1444[FEF K TE yo)Y el U e 9.00| 0.80 6.00 1 1
1445 ES K T ) e U ¥Rz 9.00 7.00 1 1
1446 | BES K T P20 il U e ¥ 10.00 6.00 1 1
1447|BEBA TE PN el Ve 10.00 1.00 7.00 1 1
1448[FEm A TE )Y e U ¥Rz 10.00 7.00 1 1
1449[ZES K T 20 el KA e 10.00 1.40 8.00 1 1
1489 | BES K TR P20 il M s ¥ 6.00 1 1
1490[EER K THER PN e Vi e ¥Rz X 6.00 2 2
1583[FEE K MRE ) e U s ¥Rz 6.00 3.00 2 2
1584 | BZES A BE 220N il K a3 ¥ 7.00 4.00 1 1
1585| B ERmA HBE 2A)) i M e ¥ 7.00 5.00 1 1
1586 FEmA HRE )Y e U s L 10.00 5.00 1 1
1587| ZES A BE 220N el M e 13.00 0.85 5.00 1 1
1588| BZES A BE ) e Vs 13.00 0.90 5.00 1 1
1589 ER K MRE yo)Y el Vb e 13.00 1.00 6.00 1 1
1590[FEE K MRE i) e Vs 13.00 1.15 6.00 1 1
1591[ZES K MRE ) e Vs 13.00 1.30 6.00 1 1
405)FEBA EA VR AR e 6.00 2 2
406 [FHE®EAK BER A e VR EAVEY e 8.00 5 5
407|FESK el ) VA, e 10.00 2 2
408|FES K BEA A VR AR e 10.00 0.55 4,00 1 1
409|ZERK =] A A ALY e 10.00 0.75 5.00 1 1
A0[FEEEAK ErR A VAR e 10.00 1.00 | 5.00 1 1
M |EEEXK =l I VA G, e 12.00 1.00 6.00 1 1
1359 (#1348 = ik T b i = ) 1.80 0.50 2 2
1360|8134 BEFE A3y 2.00 0.50 8 8
918|HESK i % e 1) e P P 4.00 0.15 1.00 1 1
99 |EES K B I— |37 ¥RaL 3.00 1.50 1 1
920|FEEA i 1\ e = 1) ¥ar 4.00 1.50 1 1
921 (ZHE®mA gt s—|h 3135 ¥Rz 4,00 3.00 1 1
922(EESKR Bty E—|h (337 ¥z 5.00 2.00 1 1
923|FEE K LIl 1\ e B I ¥RaL 5.00 3.00 1 1
24| ZEF/AK i e 1\ e B P 3L 5.00 4.00 1 1
AVIE TS th)il h o --1aF3 X 700 045 4.00 1 1
1592| ZES A BE - [angFIh1T ¥RaL X 3.00 1.50 1 1
1593 | BERmA HBE - [angFIh1T ¥R x 4.00 2.50 1 1
2270[FEEER FHELL DA IhIR: 3L 3.00 2.00 1 1
2271 | ZEEXK FHELWL M [anvIz 4t ¥Rz 1.20 1.20 1 1
412|FEER [l M—a7°y ¥ 4.00 2.50 1 1
A3 |EERK EXA M—a7°y 3L 7.00 3.00 1 1
A4[EEEK el a7y 9.00 1.05 6.00 1 1
45|FEESXK Er M—a7°y ¥z 8.00 6.00 1 1
416[ZEBA ERN |37y ¥ 10.00 4.00 1 1
AN TS [l |37y L 10.00 5.00 1 1
418|HESK [l M —-l37°y L x 6.00 1 1
49|FESKR [l 37"y x 7.00 1 1
420| BEF/ AR =0 W27’y 3L x 7.00 3 3
1207[FFESK LAY |37y 3L 8.00 5.00 1 1
1594|ZES K MRE M —-l37°y ¥Rz 4.00 3 3




1595 %ﬁﬁ* HEE 75\ ........ 37’:/
1506 EEA  |BRE a7y 9.00 1.10 5 5
1597|BES K BE PRy . 10.00 | 0.85 5.00 1 1
1598 BEEA |BE oy — 37{ x | 9.00 ] 1
BHEL Tt N = x | 1000 a4
1916|BESK  [70-A)- [D|—{37°y 7.00 | 060 4.00 1 1
1917|BZEA  [70—AY-  [Dp—|27°Y 6.00 | 040| 4.00 1 1
1918|ZEEmA [0~y [m}-]377 700| 055| 5.00 1 1
00| EEEA |7 | — :7’*/ 7.00 | _0.60 | 6.00 n ]
1920(FEEKR  |[7°0-AY)-  [D|— ;,7':/ 700| 050| 400 1 1
2015|BEEmA  |FLwil  |H[— = 700| 050| 3.00 1 1
2273[BEEA_ [f@AWL o E;j #R3L 3.50 1.50 " ]
2274 EE K FHEL n s 3.50 0.15 1.80 2 2
2275|%ES K AW n 7y 3.50 0.15 2.00 1 1
2276 E®mA  [fn@EL NERED _ 350 | o.18| 2.00 1 ]
22771 BEEE K AW o ]7’:/ 1*—‘_!_' 2.50 1.80 1 1
1450 BEEX  |[TH - N; B x| 250 1.80 1 ]
1451|BEEBEA | TH - Ju; 1.20 0.60 47 47
21| E/ERX |EX e - - 1.50 1.20 sl 18
22| EREX |ERA - Z2 ¥R 1.50 1.00 > >
423 | ERIEXK pq A ;:/ = ¥Rz X 1.80 1.20 ) 2
625\ EREA  |ER TsRCE|& [ %; = M x| 200 1.20 3 ]
626 | EfREm A Bl TS| [ W% X 250 | 0.12 1.00 1 1
627|E/E X Bl IS - Y% : ;gg 1.50 1 1
;gs; ngi EEFE (& [-[90F NyIn-y 1.50 :,22 l 1
2380 %i:;}: e f el 1995 Xol x 1.00 ' 3 .
2381 [BEBA HA 2 S g T L] 1.0 17 13
rsso R A E:ﬁ i | 1995 1behy B 2.00 33 3;

™ = RN
2383|FEEA  |fHL B g Zzz i:tzj 350 | 0.18| 1.80 2 2
2384 ES A |fOEL B | #7; %ﬁth#; 400| 020]| 250 6 5
2 = £ X 2.00
LT T ST WA O x| 250 s
el s nEr aELn = s ;Z; ‘7_—%«—# _ 1 350 | 0.2 1.80 15 15
166 = — .2~2.0
. gigi zj:: i s] 1997 WikBE & 2.00 T
1670 %Eg* )il F § Wz mﬁ&i 2.00 1.50 2 2
1671 | EEBA P T |= Zgz ZEEE 250 | 010] 1.80 1 ]
1672|ZBEE XK H T X ‘f’}; mﬁgg 2.00 0.10 1.80 1 1
2s[EEBA MBI B (2| ()7 XREE = 2 1.50 o 2

E — = H 2.50 0.60
X 95 KRAH 2.00
| [995 4ns 2.50
o . 0.1

v [BREA zﬁ <97 MRS 3.00 o
R TS % s | [ A 4.00 =
949 %ii o i I Wil 4.50 ;
olesat lam ] i mas 5.00 SR
I N 5.50 -
2304|ZEBK *uE'l?u.l g S 'ﬁ;g 6.00 2 2
2ol EEEA  FOEL &= S| [ AR 1.00 ; 1
il T T WO T 1.50 e
2398|BE/A WAL B S| 1995 ARE 1.80 T
1646|ZEBA B § ZZZ oL 2.50 20l 20
1647)EEmA  [EH & ﬂ'}z gg X | 500| 067| 5.00 1 1
1648 BEEA |8 ST T mE x | 600] 055] 500 T
2399 EES L X 6.00 0.60 5.00
2099 ﬁi—?i mEw B (x| [ wAmEs | & 1,00 —
2401 %EE* MEW B || |47 RAEER 1.50 5 :
zolEREx nml & 2] |ny %EAE 1.80 —
D s MEL & [5] [ #AEE 2.00 4

BA__|mEL & 5| (85 =RIEE 150 S




44| BEBRA  |f1EL R [ 195 ‘ZRINER x 1.50 2 2
2397|BESEK FEL B | #97 ‘EEH 1.80 20 20
2007 [EEES K AL B |& %97 ‘+ A8 2.00 1.00 19 19
2408|FEE K fEL B | #97 ‘+ A%’ 3.00 1.20 18 18
2409|EEEA  |fIAEL B [ %95 ‘WA’ ] 1.20 1 1
2410|FESAK  |fIHL B [ #93 ‘A’ 2.00 5 5
2011 [BEEA fEL B | 197 ‘MR 2.50 20 20
2412|FE®RAK  |f1EL B [ 17 ‘EEBETER | @ 1.20 1 1
952| HESK L] x #97 ‘B’ 300| 0.10 1.50 1 1
953| BHES K =L ] = %97 ‘B’ 4.00 0.21 2.50 1 1
954 |EEEA =i ] = #53 ‘BE’ 400| 030 2.50 1 1
955|FEEK L] = #95 ‘B’ 450 | 025 3.00 5 5
956 FES XK e = #57 ‘E’ 450 | 030 3.00 3 3
957| BZES X L] = %97 ‘B’ 5.00 0.25 3.00 1 1
1921[FERAK P e i #97 ‘B’ 400 | 030 3.00 1 1
1922[FES K Pl i #95 ‘B’ 6.00| 060 6.00 1 1
2414|FESK  |FIHL B [ #47 ‘BAl’ ] x |1.2~2.0 1 1
215|FEEBEA fEL B/ | %97 ‘B’ 2.50 5 5
2416| BE®mK AL B’ | #95 ‘B’ x 2.50 2 2
2417|BEEK FEL B | #93 ‘“WWEE’ 1.50 1 1
2018[FEEE R AL B |& %97 “WEE’ 2.00 1 1
2419| BER/AK fEL B | #97 “WEE’ 2.50 2 2
958 |FEEK L] = 195 ‘EHEH 300 o015 2.00 1 1
959 | BHES XK YL = $97 ‘EHETH 3.50 0.18 2.00 3 3
960| ZERA =L ] = 197 ‘LHETEH 4.50 0.21 1.50 1 1
961 [FHESEA L] = 197 ‘LHEH 450 025 2.00 2 2
962|FES K L] x 197 ‘EHEH 500| 030 2.50 6 6
963| ZHES K 2 = 197 ‘LHETH x 3.00 0.12 1.50 1 1
964|EEE A =i ] = 197 ‘EHEH x 300 0.15 2.00 3 3
965 |FEEK L] x 197 ‘EHEH X 350| 018| 200 6 6
966 FES K y L] = $97 ‘EHETH X 450 0.21 1.50 6 6
967|ZER/A =L ] = 197 ‘&HETEH x 450 0.25 2.00 9 9
968 [EEE K L] < 195 ‘EHETH X 500| 030| 250 9 9
969 |FESK L] x 197 ‘EHEH x 550 [ 0.35 3.00 1 1
970| BES K =L ] = 197 ‘EHETH X 6.00 0.40 3.50 2 2
1817|ZEE K EWBT = 197 ‘EHEH x 6.00 [ 0.60 6.00 1 1
1846| XEB/K  [BR = 197 ‘EHEH 400| o015 2.00 1 1
1847[ZESK  |[BX = 195 ‘EHEH 400| 0.18 2.00 1 1
1848|BZES A BX = 197 ‘&HTEH x 4.00 0.15 2.00 3 3
1849[FERAK  |[BX = 197 ‘EHEH x 400 o0.18 2.00 4 4
1850[ZESK  |[BX x 197 ‘EHEH X 400 | 021 2.50 1 1
1851|ZES A B = $97 ‘EHETH X 5.00 0.15 2.00 1 1
213|EEEA fEL B/ | 197 ‘LHETEH 2.50 99 99
2438|BEmA  |[f1IEL B (& 195 ‘BER 2.00 20 20
2420\ FESAK  |fIHL B (& 195 ‘BREF 5] X [1.2~1.8 25 25
2021[FEEE R AL B |& 197 ‘BRE x 1.00 1 1
2422\ BREERA  |FIEL R [ 197 ‘ERE X 1.20 6 6
2423| BEBEXK AL B’ |x 195 ‘BRE X 1.00 9 9
2024 |FEEE K FMEL B | 197 ‘BRE X 1.20 5 5
1208| BZEEA Ui = 197 ‘HER 6.00 0.60 4.00 1 1
1673[FEREA il F x +h5 ‘TER’ x 3.00 0.23 2.50 1 1
1718|FES K FIIl_&F x 197 ‘HER 500| 0.18 2.50 1 1
2425FEEES K AL B |& 197 ‘HBR 2.00 2 2
2426| BERAK fEL B | 17 ‘HER 2.50 10 10
2027 EmA  [f1EL R (& 197 ‘BEE X 2.00 1 1
2428| ZESA  |FIHL B (& 197 ‘WER X 2.50 3 3
1818[EERA EBT S 197 TU R x 400 0.40 5.00 1 1
2029|EEBAR AL B | 195 ‘HE 2.50 0.40 1 1
2430| BEEK FMEL B | #97 ‘HBR 1.80 1 1
2431[FEES K FMEL B | %97 ‘HIEFE 2.00 1 1
24| BERK AL B | 197 ‘KB 3.00 0.60 1 1
2433|FE=EA  |[fIEL B (& #95 HLE X 0.80 7 7
I |EESK e = #97 ‘HrE’ 450| 0.18 1.50 1 1




2434 | BER/AK fEL B | 195 ‘HE’ 1.00 1 1
2435| BESEK FEL B | #97 ‘HrE’ 2.00 2 2
2436EES K AL B |& %97 ‘HIe’ 3.00 1 1
2437\ BER/K fEL B | 197 ‘#E’ X 0.80 5 5
2439| BEEXK FEL B | $95 ‘REIRAAE | @ 1.2~18 5 5
2040[FEEE K FMEL B | 195 ‘REIEAAE’ 3.00 0.10 1.80 1 1
41 [FEEEA fEL B | 197 ‘DEEITAE’ x 2.00 0.80 4 4
2442|BEEXR AL B | 195 ‘DREIELAE’ X 2.50 1.50 1 1
2445| BEEK FMEL B | #95 ‘W 1.50 19 19
2446FEES K FMEL B | %97 ‘HEIR 1.80 2 2
2047|EEBR FMEL B |E 197 ‘HRie’ 2.00 1 1
2448 | BEEA  |fIEL B (& %95 ‘B3t 1.80 38 38
2449|FESAK  |FIHL B (& 195 ‘HIESE 3.00 0.80 1 1
2450\ ZESA  |fIHL B [ 197 ‘BUESEE X 2.00 1 1
1852[ZHERAK  |[BX S {197 EEE x 2.00 1.00 1 1
1853[ZESK  |[BX S {7 EEE X 2.50 1.00 2 2
1854| ZES A B & 37 —FF 3.00 0.21 2.00 1 1
1855| BEBA B’X Sy —FE x 4.00 0.30 3.00 2 2
1491 |EERAK THR S %7 EwR 6.00 0.40 1 1
1674|ZES K )il F = %97 EH 450 | 048 3.00 2 2
1675| ZES A flll T S |[--{¥7 e 4.50 0.50 3.00 1 1
1492| BEBE A TER S - [1)7 ‘EHRE 7.00 0.45 1 1
1676 FES K )il F S (47 EHRE 500 082 5.00 1 1
1677|ZES A flll F %7 HMROE’ 3.00 0.31 3.00 1 1
92| BERA =L ] S - [¥7 FEE 3.00 0.15 2.00 1 1
1678[ZEE K il F x $5 WEKE = ‘SHRE 1.80 1.00 1 1
1679|ZES K d)il F X |5 WakE = EBRE 2.00 1.00 1 1
1680| ZES A hjll F x| [995 wanE = ssum x 1.50 0.80 1 1
1681 [ ER/ K hjil F = 5 WERE = EBHE X 1.80 1.00 1 1
1682|FE/ K gjil F & 95 weeE = wuns X 2.00 1.00 1 1
1683|ZES K il F = 497 ‘KR 500| 095 5.00 2 2
973|[ZEEA =8 ol 197 ‘BimER 4.50 6 6
974[FHEEAK L] S e Hh5 EEER 5.00 4 4
1493|ZES K THR S %97 ‘B’ 6.00 0.35 3 3
1684| BZES K il F S %7 ‘B’ 4.00 0.33 3.00 1 1
1685 ERm A il F S -7 ‘g 4.00 0.39 3.00 1 1
1686 [FHIEm K il F = -4 ‘B 4.00 0.54 4.00 1 1
1719|BES K Il & = 195 ‘B’ x 4.00 0.15 2.00 1 1
1856| ZES A BX = %97 ‘Bt 4.00 0.21 2.50 1 1
2403|BEEA  |f1EL R [ 197 ERIE 1.20 4 4
2404|ZES K MAWL B’ |x #9755 1.50 24 24
2405 ES K FMEL B | %97 IMER 1.00 5 5
2006EEBEA fEL B/ | %97 IMER 2.00 3 3
1857[FE®mA  |[HBX %97 ‘Fhs 2.00 1.20 2 2
1858[ZES AR |[BX = -{4h7 ‘A 2.50 1.80 1 1
1859 | ZES A BX S %97 ‘B 3.00 0.12 2.00 2 2
1860[FERA  |[BX & [{h7 ‘AhY x 2.50 1.20 1 1
1861|BES/K  [BR & %97 Az X 300 o015 250 1 1
1362|ZES K EHHE | #97 ‘¥ 108V 300| 045 3.00 1 1
1862| BEEA BX = 197 “AER 2.50 0.15 2.50 1 1
1863| BERMA  |HBX = #493 S Ee X 250 | 021 2.50 1 1
1864[ZESK  |[BX %97 R X 300 o0.18 2.50 1 1
1865| BZES A BX S |47 AR x 3.00 0.12 2.50 1 1
1866| BEEA B’X = #97 “FER x 3.50 0.21 3.00 1 1
2278|FEBAR  |fIAEWL = $9399Y" 1.20 0.80 1 1
2279| B EBXR FHEIL = #9399 1.50 0.80 1 1
2280|FEBEAR FHELWL = $93999° 1.80 0.80 1 1
1869[FERA  |[BX & %R ¥R3L 3.00 1.50 1 1
24| EREXR el = -9 4"Uh 300| 030 2.00 1 1
425|BEREX il S -4 ¥vh 3.00 0.35 2.50 1 1
26| BB AR EXA & |--{44"vh 3L 3.00 2.50 1 1
427|EH/REAR ER & -4 4"Uh 300 o040 2.00 1 1
428 ERE K ER = - 9¥Uh 350 030 200 2 2




49| EfRmA =l & [=—-9"vh 3.50 0.30 2.50 1 1
430| BERE K el = - 94"Uh 350| 040 2.50 1 1
431 | EREXR Er S |[--[¥¥vh 4.00 0.30 2.50 1 1
432| EfREm A =0 & |--{4¥"vh ¥R3L 4.00 3.00 1 1
433|ER/REBA el E - 4¥"vh 450 045 3.00 1 1
434 | BEREXR [l v 3.00 2 2
435\ ERRkEA =l & |- ¥Uh 4.00 4 4
1094 E R EmA BEH & |--{4¥"vh 200| 0.18 1.50 1 1
1095| EfkE A BER S |[--[4¥vh 2.50 0.16 1.50 1 1
1096 | E & A BER S |[--[¥¥vh 3.00 0.25 2.00 1 1
1097 [EHREA W& & |[--{¥¥"vh 300| 028 2.50 1 1
1098|EH/EmA  [BBEHT E -4 4"Uh 350 024 2.00 1 1
1099 | ¥ ZE A BER S |[—-[¥¥vh 3.50 0.25 2.00 1 1
1100|EREA  |BEH S -4 ¥vh 4.00 (=052 2.00 1 1
1101 [E /B A BERT & |--{44"vh 450 | 045 2.50 1 1
1102| ¥k S A BER & |[--{4¥"vh 450 0.45 3.00 1 1
2044 | ERE AR =] S |[-[4¥vh 1.5~1.8 23 23
1103|EfREmA BE & -9y vh (EiA) 4.00 0.17 1.00 1 1
436 | E#ZmA BEr E |--9¥vh (B1E) 250| 0.10 1.00 1 1
437|ER/REXR [l & |[=-|9¥vh (B1E) 3.00 0.10 1.00 1 1
1104 EfRES XK BER S |[--[4¥vh (—F) 4.00 0.30 2.00 1 1
438 ERIBEAR =] & HY£99Y° 0.30 0.30 7 7
439 | ERIEXR [l & #9£999° 0.30 0.40 2 2
440| ERIEXR [l = #3999 0.40 0.40 15 15
1972| ZEEA e F! & A # 1.00 12 12
1973[BERmA BIRE E AN ¥Rz 5.00 1.80 1 1
1974[FES K IR E AN ¥Rz 6.00 2.00 1 1
2045EES K =] ol 2.5 5.00 0.65 4.00 1 1
628[EEEAR |Em TIRTH|X [—-{HNAA) F 400| o0.18| 200 1 1
629|FEEAR |BA TIRTR[E [—|¥VAAY F 230 6.00 2.50 1 1
672[EESAK  |Em BAY v |X -{HLAAT) IR 400| 015| 2.00 1 1
673[ZERA  |mm mAY v |X [ {H RN IR 500| 0.15| 2.00 1 1
674|FERA  |mm mAvrvE X [ |HLRNTY TR 450 | 0.12| 200 1 1
925|FESK B I—|E VAN TR [ v 3.00 3.00 1 1
926| BES K FHEI—|E VAN TR ¥ 3.50 2.00 1 1
027[EBEEAR |[BREVE—|E YRR K ¥ar 5.00 3.00 1 1
928|FEEK BRI | [—{HVRAY TR [ v 6.00 3.50 1 1
929|FESK TR I—|E {HVAAY TR 3L 6.00 2.00 1 1
930[FES AR [BXEUF—|E [—{YRAAY F ¥z 6.50 3.00 1 1
201 |BERX |FX = PRAAY FR 2.00 2 2
675[ZES KR  |mm mAvrvx |X [—{HLAAY 5T 1.50 1.20 2 2
676 FER K BN BAY v | [ AAY S5TE8 5.00 0.21 2.50 1 1
630|FEEEA ER TSRTH|S YA Bk 6.50 0.45 3.50 1 1
677|FE®mA  |mm mAvrvx (X | |HLAATY BB 300| o012| 200 1 1
6I8[EES AR  |mm mAvrvx |X [—[HLAAY B 23 7.00 5.00 1 1
6719|FEEK WA BAY Y (S —{§ AN BBk 2RI 7.00 3.00 1 1
1209[FER/ K INFR & [ HhAAY BBk 2.00 2.00 1 1
1210| ZES K IR E AN Bk ¥ar 2.50 2.50 1 1
1211|FESK MR E B AN Rk 4.00 0.25 4.00 1 1
12125 E®mA Ui & [ HhAAY Bk 3.00 0.25 2.50 1 1
1737[FEEm A Fif E ANy Rk 600| 040 3.00 1 1
1738| BZES A ey E Y RAAY Rk 6.00 0.52 3.00 1 1
1739| BES K KA S [ BhAAY BBk 7.00 0.53 2.00 1 1
631 | BZEF/K ER TSRTE|E [—{HIVAATY B8 6.00 0.45 4.50 1 1
632|%EEA |EA TscB|X [—{FIRAY B 800| 050| 5.00 1 1
1213| BES A IMNEH = {3 AAY B 1.80 1.50 1 1
12145/ A Ui S R AA) B 2.00 1.50 1 1
1215[FEEm K INFR R AAY) 7 2.00 1.80 1 1
1216[FES K /N E [{$VAAY B 2.00 0.10 1.80 1 1
1217|BES K N = RAA) B/ 2.00 2.00 1 1
1218[FEE/ K I\ & {4 AA) B 2.50 2.00 2 2
1219[FFEEK INFR E [{$VAAY B 2.50 0.10 2.00 1 1
1220| ZES A N S [{HVAAY B 2.50 0.10 2.50 1 1




1221[BEEAK INTG S {¥RANY B 300| 0.10 2.00 1 1
1222| ZES K /N ol v 2= i X 1.80 1.80 1 1
1223 ES K U] S {¥RhAA) B/ ¥ x 2.00 1.80 1 1
1720[FEE/ K djll & & [ HhAAY B 5.00 0.30 3.50 1 1
1721 [FEE XK il & R AAY 7 500| 030| 450 1 1
1722| BZES K il F E ¥ AAY B 5.00 0.25 3.00 1 1
1723 E®mA fjIl & S R AA) B 6.00 0.25 3.00 2 2
1724[FEEAK il g AN B ¥R3L 5.50 3.00 1 1
1725|BZES K il & E AN 7 ¥Rz 6.00 2.00 1 1
1726| BZES A il & = {¥RAA) B/ ¥ 6.00 4.50 3 3
633[EEEAR |ER TIRTH|E [—{HNRA) & 600| 035 400 1 1
680 FFEEA  [mm mAvrvE X [ |HLANY £ 250 012 2.00 1 1
681[EESAK  |Em BAY v |X {HLAAT) & 300| 012| 200 1 1
682|FERK Bl BAVTYE | [ FLAAT) S 3.00 0.15 2.50 2 2
683[EEEAR  |mm mAY v |X [ {HAAT) & 23 5.50 4,00 1 1
1224 FES K INER E {HRAAY) & 300| 010 1.50 1 1
1740| BES K i E [{HhAAY) 8 4.00 0.30 1.50 1 1
2072|FEEEA HEE = HIAA'Y) B 1.50 1.20 1 1
2073|BE®mA  |FE = vIDSYIE S 1.80 1.00 1 1
2074[FEEK HX = VIS IE S 1.80 1.50 1 1
2075FEE R HFE = HRAA'Y) B 2.00 1.50 6 6
2076[FERAK HFE = HIAA'Y) x 1.50 1.20 1 1
2077|BEEXK HBE = VISR X 1.80 1.00 1 1
2078[FES K HX = HIAA') B ¥ 1.80 1.50 1 1
634|BERBA B ISRTB|E [ hRAT) B 4.00 0.18 2.50 1 1
635|FERAK ER TSRTH|E LA B 2R3 4.00 2.50 1 1
636 FESK EA TRTH|E [ {YNAAY B 5.00 0.25 3.00 1 1
637| ZES K ER ISRTH|E [ hAAT) B x 450 0.10 2.00 1 1
638|EEEA ER TSRTH|E [ hRAT) B ¥ar x 4.50 2.50 1 1
639|FEEK Ee TSRTE|E Y IhAAY B X 5.00 0.21 3.00 1 1
640 FES K El TR TR|S Y ILAA) Bk x 5.00 0.30 4.00 1 1
684|FERA Bl BAVTYE | - FLAA') Bk 4.00 0.12 2.50 2 2
685 ERA  [mm mAvrvE [X [ |H LAY BE 450 | 0.12| 200 1 1
686[ZES AR  |mm mAY v |X - {HRAAT) B 500 018 250 1 1
687|FESK Bl BAVTYE | - FLAA') Bk X 4.00 0.12 1.80 1 1
931 |EEEXR B 4—|E [ {HRRA) B ¥R3L 6.50 3.00 1 1
932|FEEK BRI | [—{HLRAY B 7.00 0.48 3.00 1 1
1225| BES A N S AN B ¥RaL 3.00 1.80 1 1
12265 ES K U] S AN B 2RI 3.50 3.50 1 1
1227[FEBAK INTG S {RAAY Bk x 400 0.25 2.50 1 1
1228 ES K /N S Y RAATY B 3L X 5.00 2.00 1 1
1727|BZES A il & S AN B ¥RaL 5.00 2.50 1 1
1741 |BEEA £ E [ HRAAY Bk ¥ 5.00 2.50 1 1
1742|FEm A Fif E {HRAAY B 7.00 | 0.38 1.50 1 1
1743| BZES A E3. & [{$ AN B 7.00 0.46 2.00 1 1
2079[FEE R HFE = HHAA'Y B 2.00 1.20 2 2
2080| BERA |FX = HIAA'Y Bk 2.00 1.50 5 5
2081 | BREBEKR |FE = VISV 2.00 1.80 1 1
2082[FEE XK HX = v 2.50 0.10 2.00 1 1
2083FEEEA HEE = VISR x 1.80 1.20 2 2
2084| BEEXR FZA = FIHAAY Bk x 2.00 1.20 1 1
2085| BESK HE = VISR X 2.00 1.50 1 1
2476[EES K AW E/F|E {4RRA) B ¥ 5.00 3.00 1 1
2477\ BER/K AW E/F|E [-{HRRA) B 7.50 0.50 2.00 1 1
2281|FEEKR  |f1IAEWL = . #975%° ¥ar 1.20 1.80 1 1
2282| HEBXR FHEIL = #974%° ¥kaL 1.80 1.80 1 1
2283[FFEBA  [FnELWL = ¥9748% ¥ 2.00 1.80 1 1
2284 | HEBEKR FELWL & #974%° 3L 2.50 2.00 1 1
M [EESK el = - #Ya11 L 3.00 2.50 1 1
42| BES KR Er - #Y11 ¥ 3.50 2.50 1 1
43| BER/KR =0 & #vya11 4.00 0.25 3.00 1 1
1870[FEEAR  |[BX & | #v9a11 BEST 4.00 2.00 1 1
641[ERE K Er J3eTs|X ¥%3 ¥Rz X 2.50 2 2




642|EHEE A HR TSRTH|E [ Y43 37 X 3.00 4 4
2478| BEEK FEWL /%S —{Y8 L2 300 | 0.21 1.00 1 1
1363| BZES A EBFE | [¥vhy5 x 7.00 0.63 4.00 1 1

566 [ZERAK Er 5 = YLD ‘REBRE 400| 020 1.50 1 1

444 FEEE K el = VLYY NBREE 350 025 2.00 1 1

45| FEEXK [l = YELYY5 \EALARE 5.00 0.25 2.50 1 1

46| BERA EA = YELYY5 \BREE 7.00 0.35 3.00 1 1

447[EEEK [l = YELY5 \NERIRE 700 | 050 5.00 1 1

48| FESK [l = YELYY5 \EHARE x 7.00 22 22

567|FES K ER =8 = YELYY5 \EAEE 3.00 0.18 1.50 1 1

568| ZERAK ER B = VLYY \ERIE 3.00 0.19 2.00 1 1

569[FEEAK EX B = YELYY5 \NERRE 300 020 200 2 2

570[ZESAK ER 28 = VLY Y7 NERHE 300 | 0.21 2.00 1 1

571 |FEEXK Er g = YELYEY5 \BRLEE 3.00 0.23 2.00 1 1

572[FERAK ER = = YELY D5 \NEBRIRE 350 0.18 1.50 1 1

ST EESK B = VLYY NBREE 350 | 021 2.00 1 1

574|ZES K 3] = VLYY \NBRHEE 400 o028 200 1 1

662|EEEA Nz |x Y85 NERRE 2.00 1.20 11 11

663| EHEBEKR N (& VLYY \BRIRE 2.50 1.20 1 1

664|HEBEXR N (& YELYY5 \EHARE 3.00 1.20 1 1

665 EIER Nz |E VLYY \BRIEE 300 o0.10 1.50 2 2

666|FEEAR Nz |E YEUYD5 \NERIRE x| 200 1.20 3 3

667|ZHBEIEA NHRHE|& VLYY NBREE x| 400| o0.10 1.50 1 1

831[ZESK = VLY Y7 NERHE 300 o012 250 1 1

832|ZEEA = YELYDF N\NEBRIRE 400 o030 3.00 1 1

833 |HFERK = VLYY NBRHE 4.50 0.30 3.50 1 1

834 |FESK = YELYY5 \EHE 5.00 0.25 2.50 1 1

835 ES K = VLYY \BRIEE 500 045 4.00 1 1

836| HERAK &8 = VLYY \NBRHE x 5.00 0.15 1.80 1 1

837|FEEK o] = YELYY5 \EHRE X 5.00 0.18 2.50 1 1

838[EZEEKR |&H = VLYY NEREE x 500 025 250 1 1

839|ZFERA o = VLYY \NERIHE x 6.00 0.25 2.50 1 1

975 [FHERm A L] = YELY5 \NERIRE 50~60| 025 3.00 6 6

976|FESK L] = YELYY5 \EHARE 5.0~6.0/ 0.30 3.00 7 7

977|FES K =L ] = YELYY5 \EAEE 5.0~6.0] 0.35 3.00 2 2

978[FER/ A =i ] = YELYDF \NERRE x [5.0~6.0 0.21 3.00 1 1

979 [FEEE XK L] = VLYY NBHEE x [5.0~6.0 0.25 3.00 4 4

980|FES K YL = YELYY5 \EHRE x [5.0~6.0 0.30 3.00 6 6

981|EEEXR L] = VLYY \NERIHE x |5.0~6.0] 0.35 3.00 3 3

982 [FHER/AK BB = YELYD5 \NEBRIRE x [5.0~6.0[ 0.40 3.00 1 1

983 |FESK L] = YELYY5 \EHRE 3.50 0.30 1.50 4 4

984 FES K e = YEVYY5 \EALERE 4.00 0.12 1.00 2 2

985 |EEEA =i ] = YELYY5 \EHIE 450 0.25 2.50 1 1

986 [HEm A L] = YELYD5 \NERIRE 450 | 035 3.00 1 1

987|FESK y-L i = YELYY5 \EHRE 5.00 0.40 3.00 1 1

988|EEE XK L] = VLYY \ERIHE x 4.00 0.10 1.00 1 1

989 |FERK =L = YEUYD5 N\NERRE x 400 0.12 1.00 1 1

990[FEEE K L] = VLYY NBREE X 400 | 0.15 1.00 3 3

991 |EFESK YL = VLYY (\NBRIHE x 450 0.25 2.50 3 3

92 |BEERA =L ] = VLYY N\NERIHE x 450 0.30 2.50 2 2

993[EEEA L] = VLYY NBHEE x 450 | 035 3.00 1 1

994 |FESK L] = YELYY5 \EHRE x 5.00 0.40 3.00 1 1
1105(ZES A (e 3 a5 \EBRIRE 250 0.28 1.50 1 1
1106 FEmA  [BEM = V8L NERIRE 500 062 5.00 1 1
1107 EFEEAXR  [BEwW = VLYY NEREE 550 060 4.00 1 1
1229 EmES A INEG & VLYY NEREE 500 035 350 1 1
12305 E®mA N = YELYY5 \BREE 5.00 0.40 4.00 1 1
1231 | FEEA INFR = VLYY N\BRHE 5.50 0.30 3.00 1 1
1232| ZES K /N = YELYY5 \EHARE 5.50 0.40 4.00 1 1
1494 | BES K THER = YELYY5 \EAEE 4.00 0.23 16 16
1495 E/ K TER = YLYY5 \ERIE 6.00 0.45 6 6
1599[FEE XK MRE = VLYY NBHEE x 6.00 14 14
1600|ZETES A MR x YELY5 (\EBRRE 600 030 3.00 1 1




1601 [FHEREA HRE = VLYY NBHEE 6.00 | 0.40 4,00 1 1
1602|ZES A MR x YELY5 NERRE 700 045 3.00 1 1
1657| % ES K Fosty = VLYY \ERIHE x 5.00 0.35 3.00 6 6
1913| BEE A kKE = YELYD5 N\NERIRE 5.0~6.0/0.45~050 3.00 12 12
2046| ZEE K = = VLYY NBREE 700 060 5.00 1 1
2451 EE XK FMEL B | YELYY5 \EALARE 2.00 1.20 8 8
2452| BERA fEL B | YELYY5 \BREE 3.00 2.00 5 5
2453|FEB A fEL B | VLYY \BHHE X 1.50 28 28
2454|HEE K FMEL B | YELYY5 \EHARE 450 0.30 3.00 1 1
2455FEES K FMEL B | YELYY5 \EAEE 450 0.35 3.00 1 1
2456 FEEB A AL B’ |x VELHH7 \NEHIHE 450 [ 0.35 3.50 1 1
2457|FEEA  |[fiEL B [ YELYY5 \NERRE 500 030 3.00 1 1
2458|%EEA |FIEL B [ YELY5 (\BRRE 500 030 350 1 1
2459 | BES X MEL B | YELYEY5 \BRLEE 5.00 0.35 3.00 1 1
2460|%E=A  |fnEL B [ YELY D5 \NEBRIRE 500 035 3.50 3 3
2461 | BES K FMEL B | YELYY5 \EHRE 5.00 0.40 3.00 2 2
2462|%ESEA  |FIEL B [ YELY5 N\BRRE 550 035 3.50 1 1
2463| BER/A fEL B/ | VLYY \NEBRHE x 5.00 0.30 2.50 1 1
2479(EEmA  [fIHEL b/*([E YELYY5 \NERIRE 550 | 030| 3.50 1 1
2480 FEERA  |MHEIL b/} [E YELYH5 N\EBRRE 750 | 035 3.00 1 1
2481|%EEA [MIAEL t/3[& YELY5 \BRHRE 800 030 200 1 1
2482| BERAK FEL /%S VLYY \NBRHE 8.00 0.40 4.00 1 1
2483[FERAK  [FIHEL b/* [ VLYY NBREE 800 045 350 1 1
2484[FEEE K AL B3 |E YEVYY5 \EALARE 8.00 0.45 4.50 2 2
840[ZEER/ A &=H = YLy —& 300| 0.15 2.50 1 1
M [BEEELR |2F = LYY —& 400 | 0.21 3.00 1 1
842[ZES K o] = LYY —& 500| 025 3.00 1 1
843|ZES K 2] = YWVhs —& 6.00| 0.35 3.00 1 1
SM|EEEXR b | = YELY —8 x 500 0.25 2.50 2 2
845|FEEK o] = LYY —& X 5.00 0.30 3.00 1 1
95| FES K ) L] = YLy —B 5.0~6.0] 0.35 3.00 1 1
996 [ZERA =t ] = WLYh —& 5.0~6.0] 040| 3.00 1 1
997 [FHEEAK L] = VY5 —& x |5.0~60[ 0.35 3.00 25 25
998|FESK aE = VLYY —8 x |5.0~6.0 0.40 3.00 1 1
1687| BZES A il F = YWLh —& 4.00 0.15 2.00 1 1
1688| BEE A il F = YELh —& 500 | 021 3.00 1 1
1689[FEEAK fjil F = LYY —& X 300 o010 200 1 1
1690[ZES K il F = YLy —8 x 300 0.15 2.00 4 4
1691|ZESA hjil F = YLy —& x 3.00 0.18 2.50 1 1
1692[FER/AK Bl F = YLy —8 x 300 0.21 2.50 1 1
1693|FES K )il F = LYY —& X 400| 0.12 2.00 1 1
1694| ZES A il F = LYY —& x 4.00 0.15 2.00 4 4
1695| BEBA hjil F = YLy —& x 4.00 0.18 2.00 1 1
1696 [ Em A fjil F = LYY —& X 400| o0.18 2.50 2 2
1697 [ZES K )il F = LYY —& X 400 | 0.21 2.50 8 8
1698| ZES A hjil F = WLy —& x 4.00 0.25 2.50 1 1
1699 [FER K Bl F = YELY —8 x 4.50 0.21 3.00 1 1
1700[FEE K )il F = VLYY —8 x 500 035 3.00 1 1
1871 |FES A BEX = LYY —& 3.00 0.25 2.50 1 1
1872| BEEA BX = YLy —& 4.00 0.21 2.50 1 1
1813[EEEA  |[BX = LYY —& 400| 025 2.50 2 2
1874|ZESAX  |BX = LYY —& 400| 025 3.00 1 1
1875|BZES K BX = YWVhs —& 4.00 0.30 2.50 1 1
1876[ZEBAR  |wE = YELY —8 400| 030 3.00 1 1
1877[FEEAR  |[BX = LYY —& 400 035 3.00 1 1
1878| BZES A B = VLYY — & 5.00 0.35 3.00 1 1
1879|BERA BX = YLy —& x 3.00 0.18 2.50 2 2
1880[FERA |[HBX = VY5 —& X 300( 0.21 2.50 2 2
1881[FFES K BX = VLYY —8 x 3.00 0.25 2.50 1 1
1882| BZES K BEX = YWLh —& x 4.00 0.21 2.50 1 1
1883[ZERAR |wE = YELY —& x 400 0.25 2.50 2 2
1884[ZEEAR  |[BX = LYY —& X 400 | 0.25 3.00 1 1
1885| BZES A BEX = LYy —8 x 4.00 0.30 2.50 2 2




1886 | ZERmA = LYY —& X 4.00 0.30 3.00 2 2
1887|ZES A = LYY —& x 4.00 0.35 3.00 1 1
1888| BZES A = YWVhs —& x 5.00 0.25 2.50 1 1
1889 [FER/ K = YELY —& x 5.00 0.30 3.00 1 1
1890| BZEE K = LYY —& x 5.00 0.35 3.00 1 1
1914| BZES K = VLYY — & 5.00 0.18 2.00 12 12
1891|ZES/A = YLy NE 400 | 021 2.50 1 1
1892[FFEE K = LYY NE 4.00 0.25 2.50 1 1
1893| ZES K = VLYY INE 5.00 0.21 2.50 1 1
1894|ZES K = LY NE 5.00 0.30 3.00 1 1
1895 E/ K = YELYS NE x 4.00 0.21 2.50 2 2
1896| FEE K = LYY NE X 4.00 0.25 2.50 2 2
1897|BZES A = LYY N\B x 4.00 0.30 2.50 1 1
1898|ZES A = YLy NE x 500 025 250 1 1
1899[FERAK = YELY5 NE x 500 | 0.30 2.50 2 2
1900| ZES K = LYY NE x 5.00 0.35 3.00 1 1
1603[FZES K = - YFaATY ¥z 2.00 1.00 20 20
17144| BEBEA ol Y77y 1.00 0.80 3 3
17457 Em K S Y77y 1.50 1.00 6 6
1746| BZES A =l YFaATY 2.00 1.00 4 4
1747|BES K ol Y77y 2.50 1.50 3 3
1748[FFEB K Y737y ‘1 Rs- 1.20 0.80 1 1
1749[FREE/ K E [ [Y737°Y ‘n1v s 1.50 1.20 1 1
1750| ZES A - [Y737°Y ‘v Rs- 2.00 1.50 1 1
1751|BEEA F Y737y ‘1Y Rs- X 1.50 0.80 1 1
84| BEEXR bl |E [ Y737 Yor17°Y 300| 017 1.50 1 1
185[EEEK bl [ Y737 Yora?’y 3.50 0.26 1.50 1 1
786 FEE AR b [E [ Y737 Y0ra72’y 4.00 0.21 2.50 1 1
187|BERK HiHE & Y7°37"Y0r17°y 5.00 0.45 3.00 1 1
7188[EEEAK bl [ Y7°37°Yora7’y ¥ 1.50 1.00 1 1
189[EEEK bl [ Y7°37°Y0ra7’y 3L 2.00 1.00 2 2
T190[ZERA Lelv I Y737 Yor17’ Y ¥ 3.00 2.00 3 3
191|BEEX bl & [ Y737 Y0r17°Y L 3.50 1.50 1 1
192(ZESK bl [ Y7°37°Yora7’y ¥ 5.00 3.00 1 1
575 ES XK 3] e O A 2.00 0.80 2 2
576[ZER K B T FFyysE 2.50 0.80 4 4
577[FEEAK B’ o rryvisx wmmgwr ¥z 3.00 1.50 1 1
578[ZES K L) | forryvisx magwr ¥Rz 3.50 1.50 2 2
2285\ BES KR FAELWL 7 [ orryynss ‘mmgEr ¥ 2.00 1.20 7 7
2286 | BER/K FA W |l forryviss mmgwr L 2.50 1.20 13 13
2287|BES K FHEL i lorryynsx memger ¥aT 2.50 1.50 1 1
2288\ ZEEAR |FIEWL i -|orryvsx ‘madEr ¥z 3.00 1.50 4 4
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1111 [EEER  [BEw f= MER'% ¥Rz 3.00 3.00 1 1
1112| FZFEEKR BEH0 = MR % ¥Rz 3.50 3.50 1 1
19045 EEK BX 1= MER'F ¥ 2.50 4.00 1 1
2303 | ZER/AK FELL = [ b4Y3 3L 3.50 2.00 1 1
1606[FHESAK MRE Bl TyynE 250 015 250 1 1
1607 [ZES K MRE B Tyyn's ¥z 2.50 1.20 6 6
1608|ZER A HRE B Tyyn'E 300 o018 250 1 1
1609 ERm A HRE B [Fryyn% ¥Rz 3.00 1.20 3 3
1610[FES K MRE Bl [Fyyn% ¥Rz 3.00 1.50 3 3
1611[ZES K RE B Tyun's ¥z 3.50 1.50 2 2
1612[FER K MRE B Tyyn's ¥R3L 4.00 1.20 1 1
1613[FEEAK MRE Bl Tyyns ¥Rz 4.00 1.50 2 2
1614[ZES K MRE Bl [Fyyns ¥Rz 4.00 3.00 2 2
1615 ZEH A MRE B Tyyn'E 5.00 3.00 4 4
1616[FE®mA BE Bl Tyyn': L X 5.00 3.00 2 2
1617[FESK MRE Bl [Fyyns ¥Rz 5.00 4.00 1 1
1618[ZES K RE B Tyun's 3z 5.00 5.00 1 1
1619[EER K HRE B Tyyn'E ¥R3L 6.00 3.00 2 2
1620 FEEAK MRE B [ryyn% ¥Rz 6.00 4,00 2 2
1621|ZES K MRE Bl [Fyyns ¥Rz 7.00 4.00 1 1
1728 E S K fjIl & B [ TYyn'E ¥ 3.00 1.50 1 1
1729[FER K fjil & Bl Tyyn's ¥R3L 4.00 2.00 1 1
1991|FES K IR Bl [Fyyns ¥ar 2.50 1.00 1 1
19925 ES K WIRE B [TyunE 3.00 0.21 1.50 1 1
1993 | ZEEA ioes F! B [ryyn% 3.00 0.22 2.00 1 1
1994[FEm A BIRE Bl TyynE 350 024 1.50 1 1
1995[FES XK BIRE Bl [Fyyn% 350| 033 3.00 1 1
1996| ZES K WIRE A TIIN'F ¥ 3.50 2.00 1 1
1997 [EEE K HIER B [Fyyn'% 400 | 021 2.00 1 1
1998[FEE K BB Bl TyynE 400 030 4.00 1 1
1999 ES K WIRE B [ TYunE 4.00 0.37 2.00 1 1
2000[FE=mA e F! B [ryyn% ¥ 5.00 2.50 1 1
2304| BEEXR FHELL B [ryyn% ¥Rz 2.00 1.00 8 8
2305| BESEK FHELWL Bl [Fyyn% ¥Rz 2.50 1.00 8 8
2306[EES K FHAELWL A TIIN'E ¥ 2.50 1.20 4 4
2307|EEEAXR FA W B Tyyn's ¥R3L 3.00 1.50 9 9
2308|FEEA  |f1IAEWL Bl Tyyns ¥Rz 3.50 1.80 2 2
2309| BEEK FHELL Bl [Fyyns ¥Rz 4.00 1.80 1 1
2310| BER/A FELWL B [Tyyn'E ¥ar x 4.00 2.00 1 1
2311 [FFEEKR FELWL A TInt’ 0.80 0.60 1 1
2312 EEBXR FHELL = {rynte’ 1.00 0.60 1 1
2313| BEEXR AL A TInt 1.00 0.80 3 3
2314|BEBKR FHELWL A TYnt 1.20 0.80 2 2
2315|FEEKR FE W i3 rynt” 1.20 1.00 2 2
2316| HEEXR FHEIL A Fynt’ 1.50 1.20 4 4




2317[FEEKR FHELL i —[rynt 1.80 1.50 2 2
2318[FHEEXR FHELWL B Fynt’ 2.00 1.20 1 1
2319| B EEXR FHAELWL A TInt 2.00 1.50 1 1
2320\ HEEKR FELL A TYnt 2.00 1.80 1 1
2321 | FEEXR FIE W i rynt” 2.50 1.20 1 1
2322| HEBXR FHEIL A Fynt’ X 1.00 0.80 1 1
2323| BEEAR FELWL A TInt x 1.20 0.80 2 2
2324[FEEEKR FELWL A TYnt x 1.20 1.00 1 1
2325 EEBXR FHEIL 2 TYnt’ X 1.50 0.80 1 1
2326| B EEBEXR AL A TInt x 1.50 1.20 1 1
2327|BEBXR FHELWL A TInt x 1.80 1.50 1 1
2328|FEEXKR  |FIEWL i3 rynt” X 2.50 0.80 1 1
2329| HEEXR FHEIL A Fynt’ X 2.50 1.80 1 1

193|BEEXK BA b |g| |14 1.20 0.60 1 1

14| BERK Bl bk |19 1.80 1.20 1 1

7195| BEE K BA b |i]| T4 2.00 1.20 1 1
2330[FES K FAELW 5 {3 Ther’ 1.50 1 1
1905 [FE R\ A B’X A T+i/% 4.00 1.50 1 1
2331 | BE®K FHELWL 7| [Fvront” 3.00 1.50 1 1
1367[ZEEK EHHE B[ [=7Y95 X 0.80 2 2

796| BEE K BA bl & -4 0 T 0.50 0.30 3 3

197|[ZEBA BA bl |G |45V hIT 1.00 0.30 1 1
1257| R EE K INEH | |9 UVhIT 75307 X 1.20 1.00 1 1
23| KEEK FHELL 7| (xR UbhIFIF3va” 2.50 1.20 1 1
1368[FEREmA SHHE |8 [-{*RIEF 1.50 0.80 1 1
1622[HEREAK HRE X |-—~|n9F7hIT 300| 030| 200 1 1
1623|FES K MRE & [—{n977901F ¥ x 3.00 1 1
1624|ZES K RE X [~[n9F701T" ¥z x 5.00 1 1

798| ZERK BA b | |n9EILY 3.00 0.12 0.80 1 1
1258| ZEE K /N X | |noE5Ly ¥ 7.00 4.00 1 1
1456 FES K TH & —[nyE50y 8.00| 060 2 2
2333|KEEA |FNEWL X[ [no®50y 3.00 1.20 1 1
2334 | BERAK FELWL x| [nyESLY 3.00 1.50 1 1
2335|FESK FHEIL x| |noE5Ly 3.00 0.12 1.50 1 1
2336|ZESEAR  |FAMHEL %[ [noE50y 300 o012 200 1 1

497|EEEBXR BER F =t Ve ¥R3L 3.50 2.50 1 1
1259 [FFEE K LAY X |nt/% [ v 3.00 1.50 1 1
2017[FEEK Xl & —[nr3z’% 6.00 0.57 5.00 1 1
2018[FEER XL il & [ [nr3z’% 6.00 0.61 5.00 1 1
2019| BERK [EXMEY] X |-~|nFix'% 6.00 | 0.62 5.00 1 1

668|HEEXR Bl AvRE|K] [MFIE K X| 3.00 3.00 1 1

883 FES K ®i# & [~|nF3z'% o 4.00 0.15 1.80 1 1

884|ZERA &i# & |~ |nFir'% 7R 4.00 0.18 2.00 4 4

885|FEmAK =8 [ ——[n3ix’% F* 4.00 0.21 2.50 1 1

886|FES K &i# & [~|nF3x'% R X 3.00 0.12 1.50 5 5

887|FEEK ) & |~-|nFiz'% 7R x 3.50 0.15 1.80 7 7

888| HERAK =8 (& |-|nFir'% x 3.50 0.18 2.00 17 17
1486 FEE K TH 2 X [—[nF3x'% 7 X 4.00 16 16
1906| ZES A BEX & [-|nF3z'% R x 3.00 0.12 1.00 4 4
212|FEEA L] (& [~ [nT3R"% PR (FzRE-) 1.20 0.80 1 1
2133| BEEXR T (& [~[nF3x'% P (FzRE-) 1.80 0.60 1 1
2134| FREEXK L & -|nF3z’% R (FzR%-) 2.00 0.80 2 2
2135[FES K ¥ & |~|nF3x'% R (FzR¥-) 2.00 1.20 4 4
2136| BER/AK L] (& [~ [nF3R'% PR (FzR¥-) 2.00 1.00 1 1
2137|BEEBXK L e & [—[nF3x'% P (FzR¥-) 2.00 1.50 1 1
2138| ZEE XK L & [-|nF3z’% R (Fzn¥-) 2.50 0.80 1 1
2139[FEEA L] (& [~ [nT3R"% R (FzR¥-) 2.50 1.20 5 5
2140| BEEX % (& [~ [nF3x'% PR (FzRE-) 250| 0.10 1.50 1 1
2141 | BEEXK L (& |-|nFiz’% IR (FzRd-) 250| 0.12 1.20 1 1
2192| BEEK e (X[~ [nF32'% PR (FzR¥-) 3.00 1.00 1 1
2143| BER/ AR L] (& [~ [nF3R'% P (FzR¥-) 3.00 0.10 1.20 7 7
2144| BEEXK L X [—[nT3x'% P (FzR¥-) 300 0.12 1.20 7 7
2145| ZEEXK L & -|nFix’% R (FzR%-) 300| 012 1.50 3 3




2146| BEEXR e (& [~[nF3x'% P (FzRE-) 3.00 1.20 4 4
2147 | BREEXK L & -|nF3z’% R (FzR%-) 300| 0.15 1.80 1 1
2148[FEE K ¥ & |~|nF3x'% R (FzR¥-) 3.00 0.12 1.80 1 1
2149| BER/ AR L] (& [~ [nF3R'% PR (FzR¥-) 3.50 0.10 1.20 1 1
2150| BEBEXK L e X [[nF32'% P (FzR¥-) 350| 012 1.50 3 3
2151 | BESXK L & [-|nF3z’% R (Fzn¥-) 3.50 1.50 2 2
2152 EEA L] (& [~ [nT3R"% R (FzR¥-) x 1.80 1.00 2 2
2153| BEEXK I (& [~ [nF3x'% PR (FzRE-) X 2.00 0.80 1 1
2154| BEE XK L (& |-|nFiz’% IR (FzRd-) X 2.00 1.00 3 3
2155 ES K e & |~|nT3A'% R (FzR¥-) X 2.00 0.10 1.20 1 1
2156| BER/AK L] (& [~ [nF3R'% PR (FzR¥-) x 2.50 0.12 1.20 1 1
2157|BEE/ A hWFE & NEIRR TR (FI0%-) X 2.50 1.20 2 2
2158| ZBEE XK ] & [-|nFiz’% R (FzR%-) x 300 o0.10 1.20 1 1
2159FEE R L] (X[~ [nT32"% PR (FzR%-) x 3.00 0.10 1.50 1 1
2160| BEF/X HE (X[~ [nF3R'% PR (FzR¥-) x 350 0.12 1.20 2 2
669|FEEXR BA AR [AFIRE YaTIR 0.80 3 3
670| HZEEXR B R MR YasTIR 1.00 3 3
23 [EEEA  |iEWE E & --|nFizx'% B 2.00 1.00 2 2
24(EERmA  [#EH X [——[nr3ix’% B 300| o0.10 1.80 1 1
275[ZES K WA L I -InFix’d A 300| 0.10 2.00 2 2
889|FEEK ) &--|nFiz'% A 4.00 0.18 2.00 1 1
890| FHERAK =8 X -~InFizx'% B 4.00 0.21 2.50 1 1
891[EEEKR |£H [Xf—[nr3ix’d B 450 | 0.21 2.50 1 1
892|FESXK &i# IE-—|nT3z'% A 4.50 0.25 2.00 1 1
893 |FERA £i# & --InFizx'% B 5.00 0.21 2.50 1 1
894[HEEAK Eoi: (X |-|nFix’d B 500| 025 2.00 1 1
895|FESK o] IE-~[nriz’d A 5.00 0.25 2.00 1 1
896|FEE XK ®i# & --|nFiz'% A 5.00 0.25 2.50 2 2
897|ZER/AK &8 E-InFix'd B 5.00 0.30 2.50 1 1
898|ZE®AK o] & -|nF3z’d B 5.50 0.30 2.50 1 1
899|FESK &i# IE-~[nriz’d A 6.00 0.25 2.50 1 1
900|ZFERA £i# & |--|nFiz'% B x 450 0.21 2.50 3 3
901 [FHESEAK &+ X f—[nr3ix’d B X 450 | 0.25 2.50 1 1
902|FESK o] IE~[nriz’d A X 5.00 0.21 2.00 4 4
W3[EEEKR |&H Xf—[n+32’% B x 500 025 250 3 3
904 | ZEF/AK b & --|nFizx'% B x 5.00 0.30 2.50 1 1
905|ZHE =K o & -InFiz’d B X 5.50 0.21 2.50 1 1
906|FES K &i# IE-~[nriz’d A x 5.50 0.25 2.00 1 1
907 |FERE K £i# & --|nF3x'% A x 5.50 0.25 2.50 5 5
908 [FHER/AK o & -~|nFix'% B x 6.00 [ 0.21 1.80 1 1
909|FESK o] IE~[nriz’d A X 6.00 0.25 2.50 1 1
2337[FES K FAELW & -~-|niz'% A 2.50 1.20 1 1
2338|EEEA FELWL & --|nFizx'% B 3L 3.00 1.50 1 1
2161 | BE®EK e I [~ [nF22'% B G39VHY) 2.00 0.80 4 4
2162| ZEEE XK e 1% [~[nF22% B39 H4Y) 2.00 1.00 1 1
2163[FEE XK ¥ & |-~ [nt32'% B U7 H1Y) 2.50 0.80 1 1
2164[FERK L] (& |-~ |nF3x'% BT HY) 2.50 1.50 2 2
2165| BEEXK L e I [~[nF22% B GF9HY) 300 o0.10 1.20 4 4
2166 FES XK P & |-~ [n+32°% B 79V H4Y) 3.00 1.20 1 1
2167|BEBA 7% (& [~ [nr32°% B HIFINHY) 300 0.10 1.50 5 5
2168| BEEX T (& [~ [nr22% B GFIVHY) 300| 012 1.50 3 3
2169| ZEEXK L % [~[nF2x% B39 H4Y) 300 o0.10 1.80 1 1
2170[FEE R 3 & [ [n+32°% B (7 H1Y) 3.00 0.12 1.80 1 1
211 | BER/KR L] X |-~ [nt32'% B U7 HY) 3.50 0.12 1.50 1 1
2172|HEFE A iPE I [~[nF22% B GFIVHY) 350 0.12 1.80 2 2
2173|ZES K S %[~ [nr3x% B39 HY) 350 0.15 1.80 1 1
74| FBEBA e (% [~ [nrzx°% B39 H) 350 015 2.00 1 1
21175|BEEXR I (& [~ [nFz2% B G39VHY) 350 | 021 2.50 1 1
2176| ZBEEXK L % f~[nF32'% B39 H4Y) 400 | o0.15 1.80 1 1
2177|BEE K e % f~-[nFz2'% B39 HY) 400 o015 250 1 1
2178| BER/AK L] X | [n+3x'% B G791 H1Y) 4.00 0.18 2.50 2 2
2179|BEEXK e I [~[nF22% B G398 HY) X 2.00 0.80 1 1
2180| ZEEE XK e % [~—[nr3x% B39 HY) x 2.50 0.60 1 1




2181|BEEXR e (& [~ [nF2x'% B GFIVHY) x 2.50 1.00 2 2
2182| ZEEXK L % [~[nr22% B39 H4Y) X 300 o0.10 1.20 1 1
2183| BEE K T % f~[nFzx'% B39 HY) x 300 0.12 1.80 1 1
2184[FERK L] X |-~[nt32'% B 7 HY) x 3.50 0.10 1.50 1 1
2185| BEBEXK L e I [~—[nF22°% B GF9HY) X 350 | 0.15 1.80 2 2
2339[EFESK FHEIL [ e A N P X 1.50 0.50 1 1
2340[FFEEEA FHELWL [ e LY % P x 1.80 1.00 1 1
1260[FEEm A /INFH X [nrexe'BH’ 5.00 0.25 3.00 1 1
1261|ZES K /N |- [nrEe ‘88’ 5.00 0.25 4.00 1 1
688 | ERIEXR Ei gAY (] [nebyhE 0.60 1 1
689 | EMRIEXR i BAYrYE [ [nIeyhE 1.00 1 1
690 | E#RIEXR mp BAYrYE (&) [nIEYhE 1.20 1 1
691 | ¥RIEXR Er gAY (&) [nIeyhE 1.80 2 2
199|BEEXK BA bh |- rvhT/% 500 | 041 3.00 1 1
800[FER/AK BA b | —|nvhF/% 6.00 | 0.50 3.00 1 1
801[ZEESK BA bHhO | —|rvhT/% 7.00 [ 053 4,00 1 1
802[ZES K BA i |-~ rvhF/ % 800 o050 3.00 1 1
803[FEEA BA bH & |rvhF/% 800 055 3.00 1 1
804 [FEEmA BA bHho8E | -—|rvhT/ % ¥ar 4,00 3.00 3 3
805|FESXK BA b | -~|nohF/ % ¥EaL 4.00 2.50 1 1
806[ZFES K BA b |-~ rvhT/% ¥z 5.00 3.50 2 2
807|FHER/AK BA b | |nvhT/% ¥RIL 5.00 3.00 1 1
808|FEEK BA b | -~|nvhT/% ¥ 7.00 4.00 1 1
1457| B ES K TH & -—{nvhF/% | ¥k 3L 3.00 2.00 1 1
1458| ZERmA T X -—|{nvhF/% | ¥R 3L 4,00 3.00 1 1
1459 [HERE A TE & [—[nohF/% oo k3T 7.00 4 4
1460 FES K TH X |—|nohF/% | #kaL 5.00 3.00 2 2
1461 | BESK TH & —|{nvhF/% | ¥k 3L 5.00 4.00 1 1
1462[FZER K TE X |-—|nvhFi% | #k3L 4.00 3.00 1 1
1463[FEE K T X [—[nvhF/% | ¥k 3L 6.00 3.00 3 3
1464[FES K TH % —|nohF/% | ¥k 3L 4.00 2.00 2 2
1465|ZEmA T & —{nvhF)% 5.00 0.21 3.00 1 1
1466 E®m A TE X |-—|nvhFI% 400| 0.18 2.00 1 1
1115|EHES K BEa &} |e45% 2.00 0.80 1 1
1116|EfRES X BER & 455 944 3.00 2.00 1 1
1117 EREA W& (& |e45% 944 3.50 2.00 1 1
692 | E#RIEXR W BAYTYE (-4 hE 0.25 1 1
693 | E#RIER B BAYrv# (& - [edh% 0.30 3 3
694 | ERIEXR ml BAYTvE (& - hE 0.40 1 1
695 | E#RIEXR A WA TvE (& | hE 0.50 5 5
696 | E#RIEXR i BAYrvE (& - hE 0.60 7 7
697 | E#RIEXR L o [P Y e [ 7 5 3 0.80 4 4
698 | ERIEAR ml WAYTvE (& - hE 1.00 4 4
699 [FMMIEKR  |mm mAvsrvx (X [-—|EYhE 1.20 3 3
700[E#HFIEXR ml BAYrv* (& - [edh% 1.50 2 2
T21BEEAX [(mr e (X - chhd 0.25 7 7
722|REBEA  |Ew SHEs |- [cdr% 0.30 12 12
7123|BREIER B SHEs | —|eYhE 0.40 21 21
T24|BEBA  |En SapEE |- [cda% 0.50 26 26
725EEEA (M seomE (- chhE 0.60 42 42
726|BEEA  |Ew SHHEs (X[ [cdh% 0.80 30 30
127[EFEEX EA S || eYhE 1.00 5 5
728[EEEAR (M BaEE (X | EhE 1.20 4 4
720[EEEA (En satm (- |chhE 1.50 1 1
730|ZEIBER B s (& -—|eyhE X 0.25 2 2
731|BEBEA  |En saEs |- [cda% x 0.30 10 10
732[BEEA  (mr s (| chE x 0.40 15 15
7133|BZEEBR EA S | (- eyht X 0.50 19 19
T134[EEEX EA S || eYhE x 0.60 20 20
735EEEAR (Er maEE (1% ehE x 0.80 22 22
736[EEEA (En matmis (- |chhE x 1.00 6 6
737|REBER B S8 (X —|eYhE x 1.20 6 6
738|ZEEBA  |Ew SavEs |- [cda% x 1.50 1 1




1467 [BHEEAK TH & [—|ebyn 43 10.00 [ 0.60 1 1
1468[FES K TH & [ |Ebyn'4a 10.00 5.50 2 2
2341 | BEEK FHELL x| |ebyn'4a’ 1.20 0.60 1 1
1369 | ZkE A EBFE  |(E||ev3vveioy 2.00 0.80 2 2
1625 FEE K MRE (& [—[Er%5 ¥Rz 2.00 1.0~1.2 3 3
1626 ZES K RRE & [ EAY%5 ¥Rz 2.50 1.0~1.3 1 1
1627|ZEEA HBE [ - EAVvT ¥ar 3.00 1.0~1.4 2 2
1628[FE®mA BE & | |tAve3 2.50 1.00 2 2
1629 ZES K MRE & [—[Er%T 3.00 1.20 2 2
2342|EES K AL & kA5 ¥RaL 2.00 1.00 8 8
2343| BER/K FHELWL (X EAVYT 3L 2.50 1.20 12 12
2344| BEEXK FE W (& [—[Er%5 ¥ar 3.00 1.20 7 7
1036| = A FH [ Er844vk"y | ¥R 3L 6.00 7 7
1037[ER e K EB [ Er84Y0k'y | ¥R I 5.00 3 3
1118|ERkEmA  [BEH X[~ [EA2xYn 400| 042| 200 1 1
1262[FESK INER x| [24U3R'ex 2.00 1.50 1 1
19235 EE XK 7' h=AY= | [E{ =AY k=AW | BRI 2.50 50 50
19245 E K 2h=AN—  [(E |7 W=AY= ‘F=LA'W | |Bk3L 1.5~2.0 0.80 150 150
1701 [FE®mA fjil F = ERYEV 1.80 14 14
1263| ZES A U x| [~zhzF 3.50 1.20 1 1
2053[FEE R = XA =N AEE 5.00 0.68 3.00 1 1
2054 | ZERK = | [Az=nzeE 5.00 0.50 3.00 1 1
2055|ZE®mAK = [E]-{~=WAEt 450 0.15 1.80 1 1
2056 FES AR = IE-{~=nAtt 4.50 0.17 1.80 1 1

498 |FEEBEA Er (& [ kY FF b ¥ 2.00 1.80 1 1

499|EHEEKR BN (& [ |§ %+ +h3b 3L 2.50 2.50 1 1
2023 EREK = E |- % EXE 2.00 1 1
2024 | ERZE AR = E [ % EXE 2.50 2 2
2025|EREE A = x| % EXE 3.00 5 5
2026 | AR = Ed N % EXE 4.00 7 7
2027 EREXK = £ k&3 EXE 5.00 4 4
2028| ¥ k= A & E % EXE 3.50 1 1
2029 | EfgmA  |BBEHT F| |4 EXE 4.00 1 1
2030\ EREXR BEa F|- k&3 EXE 5.00 1 1
2031|E/REAR BA b |E k&3 EXE 2.50 1 1
2032|EREAX BA b |E | % EXE 3.00 17 17
2033|EZREK BA b (E[ |7 EXE 4.00 5 5
2034 | ¥ B E A BA b |E | k&3 EXE 4.50 3 3
2035| ERE X BA b |E % EXE 5.00 4 4
2036 | E#EE A BA bi|E|l - % EXE 5.50 2 2
1264 ES K /N F|ARYNT C98R AR 2.50 0.10 3 3
1265| ZES A N E= |7 08 R AR 3.00 1 1
12665 E®mA N E3 Y)YT V8RR 3.00 0.10 2 2
1267 EmAK INFR F|ARPNT C08R AR 3.00 0.12 3 3
1268| BZES A U F|RYNT C08R AR 3.00 0.15 3 3
1269|ZES A N =7 08 R AR 3.00 0.18 3 3
1270[FFEE/ K INFR E3 RY)YT C98R AEY- 4.00 0.15 2 2
1211 [FEEXK IR F |7 A A 400 | o0.18 4 4
1212|BES K MR E=|[RYNT 08 R AR 4.00 0.21 4 4
1273 E®mA INFH E3 Y)YT 8RR 4.00 0.25 1 1
1274|BFEEAK INTG ES Y)YT C9ER AEY- 500| 0.15 1 1
1275| BES K /N F|RYNT C98R AR 5.00 0.18 2 2
1276| BZES A N =R NT 08 R AR 5.00 0.25 3 3
1277FEEKR INFR E3 RY)YT 98 R AR 5.00 0.30 1 1
1278 EEK /N F|ARYNT C98R AR 6.00 0.21 2 2
1219|BES A IMNEH F |7 08 R AR 6.00 0.30 1 1
1280| ZEEA N ES Y)YT C98R AEY- x 2.00 2 2
1281[FFEEK INFR E3 YT XA FE)- x 2.50 1 1
1282| HZES K /N F|ARYNT C98R AR X 3.00 0.10 2 2
1283| BZES A N =T C08R AR X 3.00 0.12 8 8
1284 EE/ K I\ E3 Y)YT 98 R AR x 3.00 0.15 6 6
1285 EEm K INFR F|ARYNT C08R AR x 4.00 0.12 2 2
1286| ZBES A N F|RYNT C08R AR x 4.00 0.15 6 6




1288 jgi-g; UNi] =
1289 | Z =S K INEG = 7T IF A AT
1760 XA INEE = B TR AT }’CJ-’
1761(% = R4 -5 7 g - X 4.00
EE/EK % |35 4R AE)—' X 0.18
17622 %ES =M W IT TS 5.00
BTEEK £ [ T x 0.18 3
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